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Time: 3 hrs.
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Mathematics -1 for C»_:S'EVStream

BMATS101

Note: 1. Answer any FIVE full quemmm choosing ONE full question Srom. each module.

2. VTU Formula Hand Book is permittéd,
3. M : Marks , L: Bloom’s level , C C(mri'e outcomes.

Max. Marks: 100

Modu[c ) Lon M| L | C
. " . %\“' ¥ de B ’ 6 L2 CO]
Q.1 With usual notation prove thag«'-ta‘n\d) =t T Ay, ™
Y r
Find the angle between thecurves r=6cos0 and r=2(1+cosH). 7 | L2 | CO1
Find the radius of curvature ‘for the Folium of De- Cartcs x*+y’=3axy at| 7 | L2 | CO1
Wy
3a 3a
—.— |4
the point ( > 2jonglt
OR
Q.2 Show that the curves r=a(l+sin 9) and r=a(l-sin0) cut each other | 8 | L2 | CO1
orthogonally ***** Pa
Find the.pedal equation of " = a(l’# co§no). 7 | L2 | CO1
Usmg modern mathematlcal tool write a program/ 5 | L3 | CO5
sine and cosine curve.
. "¥YModule - 2
Q.3 Usmg Maclaurin’s serxes expand v/1+sin 2x{in, powers of x upto the terms | 7 | L2 | CO1
X . i 9
\ «@‘, .
IfU —ea"“’yf(ax by) prove that baU -f 6 | L2 CO1
”””” éax L4
Find the extremeé values of the function-sin x +sin y + sm(x +vy). 7 | L3 | CO1
42’ ‘ng s, ‘:OR *w:}
o 2R W § | L2 | COl
Q.4 Evaluate the lim S
£ x—0 {{,
AN . O *%*‘“’IGU 16U 10U 7 | L2 | CO1
U = f(2x - 3y, 3 /le, 4z — 2x), prove that — — 4+ === =0.
f ¥ 3y ), p Aty Ve > %
Using modern mathematlcal tool,/ wnte a program/code to evaluate| 5 | L3 | CO5
02
Q.5 6 | L2 |C
Find the orthogonal trajectorlcs of the famlly r=a(l + sin 0). 7 | L3 | CO2
Find the solution“of the equation x (y Px) =P’y by reducing into | 7 | L2

Clairaut’s form usmg the substitution X =x%, Y =2,

2

OR
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f,‘}‘».
o
[Q.6 Solve (8xy —9y?)dx + 2(x* = 3xy)dy =0. ALY 6 | L2 | CO2
A voltage Ee™ is applied at t = 0 to a circuit of mductzfnce\L’ and resistant | 7 | L3 | CO2
R. Find the current at any time t given that the current 13“, mmally zero when
t=0. -y ® ¥
Solve x(y')? - (2x + 3y)y' + 6y =0. a ) 7 | L2 | CO2
Module—-4 W
Q.7 i) Find the last digit in 77, My, A | 7]|L2]|cCo03
i) Find the remainder when 135 x 74 x 481§ dlwded by 7. o
Solve the lincar congruence 6x =15(mod21). B 6 | L2 | CO3
Using Wilson’s theorem, show that4(29)! + 5! is divisible by 31 7 | L2 | CO3
(MOR o Y
Q.8 Solve the set of 'almultancous gccmgrucnccs X = 5(mod3) ’w( 2(mod5) , 7| L2|CO3
= o é
1(mod1 ) % ¢ 14&
Solve 7x + 3y 10(mod16) )7 2x + 5y = 9(mod16) ) 6 | L2 | CO3
Show that 2°*° — 1 is divisible by 31, using Fermat’s “fittle theorem. 7 | L2 | CO3
- 1 Module — 5 P
Q.9 Find the rank of the matrix 6 | L2 | CO4
1 2 4\ "3
Solve the system of equation. by usmg Gauss-Jordan ethod 7 | L3 | CO4
X+y+z=8, -—-x- y+22 —’—4 3x +5y— 7z-—~s14
Using Raylelgh’s power ‘method, find thef,| 7 | L3 | CO4
corresponding elgen vecfor of the matrix (:
‘;, \:;. % A‘{‘ bt s ‘Q{Q‘V{W
by takin -initial vector as [1 1#1]% Perform 6 iterations.
“a £ f/ OR i
Q.10 | a. e the system of equatlon by using Gauss ellmlnatlon method. 8 | L3 | CO4
' “2y+z 3, 2x+3y+3z=10, 3% &,y+%"22—13
. "Splve the following system of equations by Gauss-Seidal method 7 | L3 | CO4
20x +y—2y =17 % 4,)2+20y z=-187 2x -3y +20z=25
Using modern“mathematical toolf write a programme/code to test the | 5 | L3 | CO5
consistency of the ‘equation: Ay,
x+2y—-z=15) 2x+y+4z=2, 3x+3y+4z=1
L w”‘e‘,w' K kK ok ok
W«’/
Aé}t& ,g
¢!
*‘f{ Xy
;;,:i‘ﬁff"“:’”
&
. ’Q 20f2




USN

CBCSISCHENE

BCHES102/202
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Applied Chemistry for CSE Stream

Time: 3 hrs. Max. Marks: 100
Note: 1. Answer any FIVE full questions, clmﬂs‘mg ONE SJull question from enclt module.

2. VTU Formula Hand Book is permittéd, -

3. M : Marks, L: Bloom’s level , C: Coitrse outcomes.

Module = 1 Lo M|L| C
Q.1 | a. | Explain the working principle of., conductometrlc sensors and ;mention any 06 | L2 | CO2
two applications. N
b. | Discuss the constructlon and working of Li-ion battcrlcs Mention its | 07 | L2 | CO4
applications. Y £
c. | Describe the apphcatlon ‘of Electrochemical gas Sensors for the detection of | 07 | L3 | CO3
SOy and NOy. &
£ *f ' OR £ &
Q.2 | a. | Explain the workmg ‘principle of an Electrochenucal sensor in the detection | 06 | L2 | CO2
of Dissolved: Oxygen (DO). :
b. | Discuss the, construction and working of Quantum Dot Sensitized Solar | 07 | L2 | CO4
Cells (QDSSCs) Mention its apphcatlons o Ry
c. | Describe “the use of dlsposable .sensor in the detectlon of herbicide | 07 | L3 | CO3
Glyphosate. A%
Module 2 b, S £
Q.3 | a. | What are memory dewces‘?\Explam the clasmﬁcahon of Electronic memory 07 | L1 | CO1
devices with examples. ™ <ra® L2
b. | What are nanomaterials? Explain any fourwpropertles of polythlophenes 07| L1 | CO1
(P;HT) suitable for< optoelectromc devicess .~ %\ 4 L2 | CO4
c. | Mention any thrée.properties and applications of QLED. “any” 06 | L1 | CO4
ORY é
Q.4 | a. | Explain the types of organic memory Devices by takmg p-type and n-type | 07 | L2 | CO2
semiconductor materials. /% Y A
b. | What are photoactive and eléctroactive materials and explain their working | 07 | L2 | CO1
principle in the display systerm:” A CO2
o8 Mennon any 3 propertles and apphcatlons of LC -displays. 06| L1 | CO4
A Y Module —3%
Q5 |a. Defme metallic conos;on Describe the electrochemical theory of corrosion | 07 | L1 | CO1
taking. 4 £ %y, L2 | CO2
b. | Describe galvaizing and mention.its‘applications. 06| L2 | CO4
c. | What is CPR2.A thick brass sheet of area 400 inches exposed to moist air. | 07 | L2 | CO1
After 2 years of period. It }Vas found to experlence a weight loss 0of 375 g CO3
due to corrosion. If the densnty of brass is 8.73 g/cms, calculate CPR in
mpy and mmpy. =%
A .7 OR
Q.6 | a. | Explain the construction and working of the Calomel electrode. 07| L2 | CO2
b. | Explain the application of conductometric electrodes in the estimation of a | 06 | L2 | CO4
weak acid. »
c. | Define co%centratxon cell. Derive an expression for emf of the cell. 07 | L1 | CO1
i Q» Y L2 | CO3
. 1 of2
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£
A ,1-%\ /
Module - 4 o "-"=,--<. b
Q.7 |a.|A polydisperse s'\mplc of polystyrene is prepared, by t‘hlxmg three | 07 | L2 | CO3
monodisperse samples in the following proportions. "5; )
1 g of 10000 molecular weight. 2 g of 50000 mol®wt'and 2 o g of 100000
mol.wt. Determine the number and weight average mél, wt.
b. | What is Green fuel (hydrogen fuel)? Mention the  dtlvantages of Green fuel. | 06 | L1 | COIl
c. | Explain the construction and working of Photovoltaic cells, /A, 107 L2 | CO2
OR t/ s} ;( ‘x .
Q.8 | a. | Discuss the conduction mechanism i i polyacetylene through oxndatﬁze or [ 07| L3 | CO2
reductive doping techniques (Any one) A
b. | Explain the generation of hydrogeh by alkaline water electrolsis? 07| L2 | CO4
c. | Explain the preparation, properties'and applications of Kevlar, ’ 06| L2 | CO4
» Module - 5 . ¢
Q.9 | a. | What is e-waste? Explain the need for e-waste managément. 07| L2 | CO1
b. | Explain the process of recyclmg c-waste. 4 ”“\ 2N 06| L2 | CO5
c. | Discuss the followmg ¢ 07 | L3 | COS
(1) Pyrometallurgy (ii) Hydrometallui’gy
) OR 4::\\ A4
Q.10 | a. | Explain the extraction of gold from e-wasté: 07 | L2 | CO2
b. | Write a brief‘note on the role of stakeholders for example Producers, | 07 | L3 | COS
Consumers, Statutory bodies. ,5‘;,
c. | Explain the health hazards due to.eXposure to e-waste. 06 | L2 | CO3
A A
,5’[2‘;}!%, ¥k Kk Kk &5‘ 3\ {{
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First/Second Semester B.E./B.Tech. Degree Examination, Dec.2023/Jan.2024

COMPUTER AIDED ENGINEERING DRAWING

Time: 3 Hours (COMMON TO ALL BRANCHES) " Max.Marks:100
Note: 1. Answerall four full question.

2. Grid sheets may be provided for making preparatory sketches.

Q. No.

. Module - 1

Marks

A regular hexagonal lamina of sides 25 mm is lying in such a way that one
of its sides on HP while the side opposite to the side on which it rests is on VP.

If the lamina makes 60°to HP, Draw the projections of the lamina.

20

Module -2

A pentagonal pyramid 25 mm sides of base and 50 mm axis length rests on HP on
one of its slant triangular faces. Draw the projections of the pyramid when the axis

appears to be inclined to VP at 45°,

30

Module -3

A sphere of 60 mm is placed centrally on the top face of a hexagonal pﬁsm side-35

mm and height 50 mm. Draw the isometric projection of the combination.

25

Mo‘dyle . 4

A regular pentagon;ﬂ pyramid of sides of base 35 mm and élti'ti;de 65 mm has its
base on HP with a side of the base pefpéndicular to VP. The pyramid is cut by a
section plane which is perpendiculé_r to VP and inclined at 30° to HP. The cutting
plane meets the axis of the pyrarriid at point 30 mm below the vertex. Obtain the

development for the solid.

25

Examiner 1:

: Examiner 2: ' /
Name: @r-loveslD N’;‘—m?er D . M&‘n/una%ac
Signatureﬂr\,,-’j;f 2942y

Signature: @df‘
¢ ¥ ] 0>| 202
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First/Second Semester B.E./B.Tech. Degree Examin;ition Dec.2023/Jan.2024
COMPUTER AIDED ENGINEERING DRAWING

Time: 3 Hours (COMMON TO ALL BRANCIIES) /. Max.Marks:100
Note: 1. Answer all four full question. '

2. Grid sheets may be provided for 1‘ilél<‘iihg'preparatory sketchefs.-*’
Module -1

— - . Marks

Q. No. .
A square lamina ABCD of40: mm 31de rests on corner A, ‘"such that the diagonal AC

appears to be at45° to VP: The two sides AD and AB contammg the corner A make 20

| equal inclinations w1th HP The surface of the lamma makes 30° with HP. Draw its

‘,;

top and front v1ews

Module 2

A square pyrarmd 35 mm sides of base and 60 mm axis length on HP on one of its

slant tnangular faces. Draw the prOJectlons of the pyrannd when the axis appears to 30

be inclined to VP at 45°. i il 6.4

Module — 3 ;2,?{5’”‘

5

A regular pentagonal pnsm of base edge 30 mm and axis 60 mm is mounted

centrally over a cyhndncal block of 80 mm“:dlameter and 25 mm thick. Draw 25

isometric prOJectlon ‘of the combined sohdsr

Ko : % Module 4 ?{W ;

e

. A regular, pentagonal prism of helght 60 mm and base edges 30 mm rests with its
base on HP. The vertical face closer to VP is 300 to‘it. Draw the development of the 25

truncated prism with 1ts truncated surface mclmed at 60° to its axis and bisecting it.

W‘(

Examiner 1: ¢ Examiner 2:
Name: L% Name:
Signature: 5N Signature:
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Time: 3 Hours (COMMON TO ALL BRANCHES)
Note:

COMPUTER AIDED ENGINEERING DRAWING

1. Answer all four full question.

2. Grid sheets may be provided for making preparatory sketches..

. Module -1
S

Q. No.

ts on one of its comers O HP. The lamina

A hexagonal lamina of sides 25 mm res
rests is

makes 45° to HP and the dlagonal passing through the comer on which it

inclined at 30° to VP. Draw its projections.

Module—2 -

Max.Marks:100

| Marks

20

i on HP on

: which it rests ma

A pentagona] pyram1d 75 mm sides of base and 50 mm axis length rests
e base such that’ the two base edges containing the corner on

one of the comers of th
f the pyramid

ke equal inclinations with HP. Draw the pmjectmns 0

e axis of the pyramid is inclined to HP at 40° and to VP at 30°.

30

when th

Module — 3 :
prism side-35

ere of 60 mm is placed centrally on the top face ofa pentagonal

A sph
mm and height 50 mm. Draw the isometric projection of the com blnatlon

25

Module 4

f a pentagonal

Draw the development of the truncated pomon of the lateral faces o

prism of 20 mm sides of base and 50 mm axis length with one of its rectangular
faces parallel and nearer to VP s0 as 10 produce a one piece development. The

mclmed face of the truncated’prism is 30° to 1ts axis and passes through the right

extreme comer of the top face of the prism.

25

Examiner 1:
Name:

Examiner 2;
Name:

Signature: g 4 Signature:
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Introduction to Electrical Engineering

Time: 3 hrs. o, % Max. Marks: 100

Notc 1. Answer any FIVE full qucslmn Sy leosing ()NL Sull question from each module.
2. VTU Formula Hand Book is permitted.», Vs
3. M > Marks, L: Bloont’s level , C: ('onrsc outcomes.

Modulé - 1 » M| L C
Q.1 | a. | Explain nuclear power generation with the help of neat block diagram. 7 | L1 | CO1
b. | In the circuit shown find the’power delivered by the source. 7 | L3 | CO1
W
ol FigQ.1(0).”
c. State and explam Ohm’s law with its llmxtatlons o 6 |L1|CO2
Q.2 | a. | State and explain KlrchofF s current and voltagc laws > 7 | L1 | CO1
LR ¢ )
b. | Explain the general structure of electrical power system using smgle lme 7 |L1 | CO1
diagram. :
7
c. | Calculate the cutrents in the network., @, o 6 [L3 | CO2
’ ~d Fig.Q. 2(c)
Al ~ N\
A (N Module= 2
Q.3 | a. | Obtain the behavior of voltage, current and power in a pure resistor | 7 | L2 | CO2

connected to 1 ¢~ "A.C. supply zDraw the voltage, current and power
waveforms LY

b. | A current of average value 18.019A is flowing in a circuit to which a |7 [L3 | CO2
voltage of peak value 141°42V is applied. Determine:
i)  Impedance in polar. form.

if)  rms values of voltage and current.

i) Power consumed by the circuit.

Assume voltage lags current by 30°,

& 1 0f3




and 40 turns on primary.and secondary respectively, Calculate: i) no load

secondary emf j) Full load primary and secondary currents i) Max
value of flux in the core.

BESCKB104/BESCK104B '
. : ' = f . , \
¢. | Define following terms rclntgd to smpsoulal w.n{f:.fo;;m of Agpz‘l!ani]\f)te’lr‘ime 6 | L1 COj
i) Instantancous valuc ii) Amph!udc i) rcq.ucnﬂ J
period v) Form factor  vi) Peak factor.
ﬁﬁ\
OR : s Tl
Q4 [a. | Derive the equation of the power consumed by ‘R:L series circuit. Also | 7 L3 W
draw the waveforms of voltage current and po‘wCr.
t : = A ped
b. | A circuit consist of a resistance of 20Q;-an inductance of 0.05H cor]ncqed 7 | L3 CO2
in series. A supply voltage of 230V, 50Hz is applied across the circuit.’Find
the current, P.F. and power consumed by the circuit. Draw the vector
diagram. 'S P A
¢ | What are the advantages of a'3-¢ system over a single phase system? 6 (L1 [cCos]
Module - 3 /& i
Q.5 | a. | With a neat diagram, 'e;kp]ain the construction of D.{C:;;generator. 7 | L1 [C\o;;"
b. | A 4 pole lap connected DC generator has 600 armature conductors and run | 7 L3 [ Coz |
at 1200rpm. The, generator has total flux of 0.24wb, calculate the emf
induced. Find the speed at which it should be driven to produce the same
emf when wave connected. s
c. Deriyg the torque equation of a ngi'“motor. 6 (L2 |Co2
Q6 |a.| A 4 pole, 250V series motor has wave connected, armature with 1254 | 7 | L3 [ Cco2
conductors. The flux per po le is 22mwb, when the motor is taking 50A:The
armature and series field coil resistances are,;0.3Q and 0.20 respectively.
Calculate the speed and torque of the motor-and also power developed in
watts. i .
b. | With usual notations derive an emf, é;'qgétion of D.C. gener’z‘at'of. 7 |L2 | CO2
¢. | Explain the following charagmr’iljs,tgcs ofaD.C. shqujiﬁotor: 6 | L2 |CO2
1) .« Torque vs armature current Ay
1i)  Speed vs armature ‘current.
b, o Module =4.
Q.7 {‘a.| Derive the emf equation of a transformer and hence obtain the voltage and | 6 | L2 | CO2
current transformation ratios.
b. | With neat‘ﬁéi}re explain the construction of two types of rotor of a 3-¢ (7 | L2 | CO1
induction motor. K
C. | A 125KVA transformer has'a primary voltage of 2000V at 60Hz with 182

L3 [ CO2

Mgy >

20f3
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3 P Explain how i ot OR T
- ) rotati c ' ; - —
. induction motoy "& magnetic flux is created in, thé, ‘stator of 3-¢ | 7 | L2 | CO2
b. | A 3-9, 6 pole, 50Hz induction motor has g slip of'3%.at full load. Find the |7 | L3 | CO2
Tynghmnous Speed, rotor speed and the frequency. of rotor current at full
oad. b, R
- . . 2, 7 — = CO2
¢. | Explain the various losses ina transformer.and how to minimize them. 6 | L1 =
Module 5 , — T Tco3
1 7 " . A1 7 LI
Q.9 | a. | Explain two way and three way.control of lamps with circuit d_:'?‘gram and
truth table. ok
e - thetwo | 6 | L1
b. | Define “unit” used for consumption of electrical energy and explain
part tariff with its advantages and disadvantages. &
= 7 |12 | CO4
\ \ c. X What is earthing? Explain plate earthing with nczli’t figure.
N OR__ <™y . 12 | CO5
S o i hock. 6
\\ Q-10 | a. | What is electric shock? Write a note on precautions against electric sho
- . . e air |7 | L2 | CO5
b. | List out the power rating of . household appllanC€§\~ h“mcludm g ar
! conditioners, PCs, laptops, print}er_(";“ptc: A :
.4-;-3 & ey g : it X 7 Lz CO4
T c. | Explain casing-capping wirjng}with neat dlagram_ﬁ
.';,5‘,

3 nf3
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First Semester B.E./B.Tech. Degree Exuminntion, Dec 2023/Jan.2024

Introduction to Mechanical Engmeermg

Time: 3 lws, ~‘./ ‘ Max. Marks: 100
Note: 1. Answer any FIVE full questions, Llwmlng ONIJ Sull question from each module.
2. M : Marks , L: Bloom’s level , C: Coursc outcomes. A
Modul¢- 1 e IMIL| C
Q.1 | a. | Explain the role of mechanical engingering in society. o 10| L2 | CO1
A /s a’ A g
b. | Explain the emerging trends and Ieclmolognes in the following sectors. 10| L2 | CO1
i) Manufacturing sector |i) A‘htomotwe sector ,s,ff(;:‘?ﬁ
iii) Aerospace sector G w) "Marine sector.
£ sF o
. f*‘\ !&{‘ OR '(:\ -,i'
: Q.2 | a. | With a neat sketch, cxplam the working principle’of:Hydel power plant. 10| L2 | CO1
as 2
b. | Write short notes 6n”: (2% 10| L2 | CO1
i) Fossil fuels Tii)'Bio-fuels. AV
AN Ay
A = Modul¢' -2
Q3 |a. What\xs“léthe? With neat sketchfexplam the workmg prxncnple of lathe | 6 | L2 | CO2
méachine. &%«a }
b. | With neat sketches, exp[am‘the following lathe operat:ons /% 8 |L2|CO2
i) Turning operation ii)’ I\nurhng operation. "”’i@, Ty
A & o
c. | Differentiate between.up milling and dovgnin}xlhng. (‘g}"‘ 6 | L2 | CO2
& § it
A OR>..” A
Q.4 | a. | What is CNC? With neat sketches “\g'ibléin the basic components of CNC. | 8 | L2 | CO2
: P i »
@ b. | List thé,advantages and dlsadvantages of CNC. \5& g 6 |L1|CO2
AN R 4
c. | List.the advantages and, dtsadvantages of 3D prmtmg 6 | L2 | CO2
Ao, A < Ny
G, o 9 Module»—S“»
Q.5 |a¥*| Witha neat ske{ch explain the com}gonents s of 1.C engine. 10|/ L2 | CO3
b. | With a neat;s sketch explain the \i{kmg principle of 4-stroke petrol engine | 10 | L2 | CO3
along thhIPV~daagram
) ¢
Lo OR
Q.6 | a. | What is an electric vchlc)e? Briefly explain the components of an electric | 10 | L2 | CO3
vehicle, ey
oy
b. | State the adva:%a\’é’e; and disadvantages of EVs and hybrid vehicles, 10| L2 | CO3
A,

£, l of 2
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A
T Module -4 p \ 7
a. | Write the composition, propertics and upphcuu()’nk )of the following | 10 | L2 | CO4
| materials, o
. \) Castiron i) High carbon steel iii) Alluxmmum iv) Copper.
' 4-«. 5
b. l Write short notes on : i) Polymers i) Shape, memory alloys. /‘g 10| L2 | CO3
' (l' oo o 4
OR ™ *’aif”
QS |a.| What is Welding? With a neat sketch explam the working )mnclple of (10| L2 | CO4
| Electric Arc Welding, AN , by
i (*% 4;\ 4
b. 'i\Vuh neat sketches, explamG’types of flames used in gas weldmg process. |5 | L2 | CO4
@ c. ‘Llst the applications gj;'wglgmg. { 5 | L2 | CO4
% *'a}h Y
- Module -5
Q.9 | a. | With the help of block diagram, explain open lobp and closed-loop control | 10 | L2 | COS
system L%
ystems. ’tr y v
A& A
b. | With ngat sketches, explain four basic rgboi configurations. 10| L2 | CO5
P &
X «OR A
Q.10 | a. | What i§ Automation? Explain 3'typés of automation. @””? 10| L2 | CO5
& £, A
b. | Briefly explain characterjstics of .O.T. Y % | 10| L2 | CO5
R By S
i), T, , W o
P *mw.&j&?" i
Z < ;3
£ Ny R o i 4
A 3 N
e, Ry Qy A%
& ; & e
/’g Q’}{ (fe%y
A %y . VP
i & ‘%%
Aad, %L’.’\ 7
¢ " >,
& ; (:V QX@"’
P (’“p A%
" ‘) &
S =,
- " ’
P i
"
&f*«r 20f2 |
oy,
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First Semester B.E./B.Tech. Degree E Ex.nmmd'tm ”., Dec.2023/Jan. 2024

Introduction to Python ﬁrogrammlng

m\_
Time: 3 hrs. P Max. Marks: 100
Note: 1. Answer any FIVE full questions, clmmmg (jNL Sull question from each module.
2. M : Marks, L: Bloom’s level , C: Coms'e oﬁtwmev /
Modulc 31 By M|L ]| C
Q.1 | a. | List and explain the use of compans(m bperator in python. Write the step by | 6 | L1 | CO1
step execution of the following eff)igssmn in python. N,
32%4+3+(10/4)*3-2 Y
o Dt A~
b. | Explain the control statemems if, else, elif with, proper syntax and | 6 | L2 | CO1
examples. @(Sif *%,
N £,
c. | Develop a pythonxprogram to calculate the area and circumference of a | 8 | L3 | COl1
circle input the \{aluéof radius and print tl;gﬁs
«\@ PAN
) OR .
Q.2 |a. Explgxn tpe string concatenation /fa’i’td strmg replication operator with an | 6 | L2 | COl1
exa{gg!e N4
A oy
b. | Explain local and global scope.of variable with sunt%bTé’?eXample & 6 | L2 | CO1
a
c. Develop a program to ead the student details lee’Name USN and. &(farks 8 | L3 | CO1
in three subjects. Displ ay the student details; ;%total marks and percentage
with suitable r:;i?gé% f?%w <,%
Y el )
S, g%ﬁ" t% %%f&
™ Mbdule— 2
Q.3 |a. | What ?@%‘ﬁi){plam the concegt of it indexing and{S'lxcmg with examples. | 6 | L2 | CO2
’?/ Q”QM
b. Wlthagmtable examples, exp ain the list methoiié‘% append( ), extend( ), | 8 | L2 | CO2
sorf{ ), count( ) and po{g{%&%
/}@ {Q%
C,, Réad N numbers {rgmﬁthe console and ct‘gﬁte a list. Develop a programto | 6 | L3 | CO2
%[ print mean, var%@nd standard deviation with suitable message.
¢
ol 4&?
o L A4S OR
Q.4 | a. | Define tup‘lgfdata type? List ouf the difference between tuple and list. 6 | L2 | CO2
A
b. | Identify and explain the dictionary methods like get( ), item( ), keys( ) and | 8 | L2 | CO2
values () in python withigxamples.
¢
c. | Develop a pyxhow? program to swap two numbers without using| 6 L2 | CO3
Intermediate varjables. Prompt the user for input.
4%%49 p P 4‘
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Module -3

Q.5 | a. | Write the output of the following :
i) ‘HeLLo’-upper() - isupper () N 6 | L2 | Co3
il) ‘HeLLo’-upper() :lower() Qﬁ'
iii) *_* -Join(‘*There can be only one’ :split( ) ) f% 9
4\@ .
b. | With examples, explain any five string methods. ﬂ%!:ﬂ 6 121 cos
c. | Develop a python program to count the total xﬁliWels, consonants | 8 | L3 | CO3
ina btllll}a ﬁi*: .
T Y . . S ST .
Q.6 | a. | Make use of the concept of file handling*and explain Reading and”vbﬁtmg 7 | L2 | CO3
process with suitable python prograrfl/‘ﬁ,
¢
b. | Explain the concept of file patl%l;&dlscuss absolute and Zlinvé’ paths. 7 | L2 | CO3
c. | Briefly, explain saving varlablé’ﬁ' with shelve module. ~? 6 | L2 | CO3
_ i <Y»  Modute—2 <y
Q.7 | a. | Explain the following{il¢ operations in python withSuitable examples. 6 | L2 | Co3
i) Copying ﬁle arid folders
ii) Moving ﬁles %n’ﬂ folders é
1i1) Permanerm‘y deleting files and folde@
A4 A
b. | List ou{dhe benefits of compressing fi le with zip file module, also explain [8 | L2 | CO3
the cg‘jjcepts of walking a dxrectorz,@ee
£
c. | List out the difference betw’een shutil.copy( ) % til.copytree( )| 6 [ L3|CO3
methods. e Qe \
Ly OR R, V" o
Q.8 | a. | Briefly explain Asserl;io"ﬁ"?-énd raising a exception, . o %‘“ 6| L2 | CO3
'Wg.
b. | Develop a python’program with a functién’ vi’famed DivExP w takes two| 8 | L3 | CO3
parameters a, ndteturns a value C&g ‘a/b) Write sultab sertlon for
a>0in ﬁmctlog?i"DlvExP and raise.on‘exception for wheith= 0. Program
has to read two ‘values from the co%\sole and call a fun Kgmf DivExP.
L3 B
c. Bneﬂfcxp’lam the difference, éoggmg levels. @ ? 6| L2 | CO3
A . N
o [ “% WModule 5
Q.9 .;D ef'me classes and objects n Python. Conpstruct the class called rectangle | 8 | L2 | CO4
i and initialize it with belght 100, widthsy 200, starting point as (x = 0,
.y = 0) and wrlte th%ﬁmethod to dlspla}‘i%t e center point coordinates of a
rectangle. 4
b. | Briefly exﬂal&he concept of pr ﬁotypmg and planning. 6 | L2 | CO4
c. | Explain Clearly _ _init()_ _¢ and __str()__ method with examples. 6 | L2 | CO4
<\ ¥ OR =%
Q.10 | a. | Explain the term objectsa: re mutable with an example. 6 |L2|C
b. | Explain the con Qﬁp&y()f polymorphism with examples. 8 |L2|CO4
6 | L2 | CO4

Explain bneﬂy‘fﬁ“i’lre functions and modifiers with examples.
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bu&stmn Paper Version il

ch. Dq,r& Lx*nmm
Professional ertlﬁg Skills i

Time: 1 hr.] %% ”’“tﬁ/]ax Marks: 50
INSTRU%\g S TO THE CAND?DATES

USN ‘

First/Second Semester B.E./B.Te

ation, Dec. 2023/Jan.2024
n Englléh

1. Answer all the fifty questfmjﬁ each question carries dne mark.
2. Use only Black ball’ﬁm pen for writing / dar& nmg the circles.
4 m? Ao,

For each quesuﬁn ‘after selecting your answgr,
correspondmg to the same

4. Darkemng@ip

darken the appropriate circle
question n%mber on the OMR sheet.

circles for the same qﬁ%"étlon makes the answer invalid.

Dam gmgloverwrltmg, usmg'{wgy;hlteners on the%gMR sheets are strictly

rohibited. 4 -
p M :;%%

op‘%ums (Q. No.1 t¢* QNo 10).

Which of these qualities a%?lmportant in group: (flscussmn? Ay

«.{Q
a) Emotional stabilitys &l&) %Hostlhty ¢
s %gﬁ‘ Aggressweygky

c) Ignorance
2. The first ob_]ectx‘i?’fé’ém a group dlscussi()Bls’to ~
a) prove youf superiority b) acts ay

self - appointed a group
crea ubgroup %@, d) cat }%\% groups attention

Choose the Appropriate Axiﬁ%vyer from the glven

3; In an 11%rv1ew when you df‘hg ’ﬁlow an answer, you should :
fuff . I‘ keep guessing
mit you do not kn fhe answer 4%2 §”'remam quiet
; ”“‘%

summary placedéﬁtt %’begmmng of the CV acts as

a) Synopsis % b) Statement of Objectives
c; Pz,:falc):e %g o X d) Letter of recommendation
fo, ~ Ry
5. The applicatig%{ letter is : ¢

a) a foreword

b) adescription of you coxe strength and suitability for the Job
c) statement of yourJ objectlve

d) asummary of)fg@r qualification and experiences.

hat is @

6. The best way toi ply for a Job is to submit a resume t
a) Self - recommending ' b) Suitable forany Job
c) Specif cal{nwritten for the particular Job
d) Full pérsonal information.

Ver A —1of 5
&
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17.
18.
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which’ the employability of the jdb

in
: ne q process |
{ interview includes a p {fjw

hich kind 0
:t;:hc ant is evaluated? b) @% ning mttem‘z\:;
a) stress interview {dl”bcﬂawour interv

roup interview

2 arc mtcndcg téguc]
wTease” or “Stress” questions e b) the candidate’s mtelﬁ ence quotient
a) how the candidate hqnldlcslhc \f?”’ d) the candldatej/ﬁcchmcal skills
¢) the candidate’s Stress cve % P %f%%

The left part of our brain controls,) 0 1magmatlon ; d) logic & = e

a) emotions b) creatiyity /
4
Oy

or bu mtervxew" e
When should you amvegté y b) 5 4]0"minutes after the scheduled time

a) at the time it is sche u
¢) 5— 10 minutes béfore the scheduled time d) go.after 10 minutes

N, !
A panel interview ngknown as :

a) panel mte’%v éw
c) boards“mfe iew

face to face interview
¢ d) telephone interview

V%‘?’
Whata;gthe successful strategies fgm lterviews?

a) Personal rapport uy b) goode ec,cnt
c) clear ideal of the key p% ¢ d) all of: the
A precise should be wnttemgn@ person : %% : :
a) third person b) “S&cond person ?t person &d) none of the above
V)Vhat are the types%%paragraph writing? ﬁ . ’
a) narrative, persiiasive ?%%b -'
iy ) descriptiv
c) CXPOSHOI’Y %% d) all of thes;%%

A;ntlmpatmggtone can promote, | %{ ‘
a) feary .
&%» b) ez‘g}te%;nt c) aggression d) none of'these

t}fé « 29 W ¥
speaker uses th Wg)ré% but”, he is m g a point of
) Setting d) Conflict

Choose the A
(Q.No. 17 }) [:f []f?ate Verb (S“Ef,g,t verb agreement) that agrees with the subject
“y

A neon and
organge T — shi chosen by me at the boutique.

a is

i b) a c) were d) are
veryone in th :

a) hag . famlly been questioned about the theft.

. b) were ¢) have d) is

Ea .
a) c\!};a(;fct:)l;Sllthd VS in the class —____their task. )
2 b) were completed c) have completed  d) has completed

@% Ver A —2 of 5
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Select the correct i : ( ) Wy
1caning of the underline jdi PN 20
¢ idioms (Q.No.
20. Heis leavi q@ﬂo 20 to Q.No. 22)
. ving the Country for pood. o, °
a) for better prospects b) gih "o/
c) forever dofya good cause

¢d)“ for other’s good
4

j L
21. Companies produci D_L*@;QQZ £y,
p producing a good play to the 8ry to boost their sales. o m, 2

a) advertises i oo
? b) caters to the public taste
c ttem
) attempt to appeal to popular tagte; %’ d) depend upon tz%%;ﬁblic for approval

22. It was he who put a spoke in W%el; Aoy,
a) tried to cause an accident b) destroyed the plan

¢) helped in the executiog”of the plan d) thw%g% in the execution of the past
Choose the appropria?ié}nswer from the given dptions (Q.No. 23 to Q.No. 25) '

23. %iCh of the bethW statements is correct in thé‘cage of the title of the blog post?
a) it should describg‘the content 4) %t should be catchy
¢) it should,¢dnflin a focus keyword ' all of the above

- = ) &
24, Creatin ~ahd?,publishing video conte 12%51 a blog is called.
a) Vié b) News ¢) Media B}

?}, d) All of these

25. What are the 4 headings of a emo
a) From, date, to, subject

b) ?&,%%, date, subjegt{%y
c) Subject, to, date, from o)

% Notfe of these ,%g%
" @

Choose the appr%iaté phrases from thf‘gﬁgl’ option to fillin the blanks :
(Q.No. 26 to Q.No(28) 2

26. “You can have%seat. I am at’the next stop”, said a young girl to me in the
local train. ¢ & ;
a) gettingmn b) gettin cﬁl}’m c) gegli &a'Way d) getting up

27 .1 %11 the instruction N S“t'll‘&;vas not happy. »
%ﬂ:;n’ies away b)’”@% d off g %’garried on d) carried out
Wad :

28 ie union has (Q’? strike.
a) calledof € %b) called off ¢ c) calledin d) called into

& 2 -
Choose thegaﬁﬁ?priate answel& the given options (Q.No. 29 to Q.No 30)

29. Which cannot €ome at the end ofithe sentence?
a) aperiod b) acolon
¢) an exclamatory mark , ¥, d) none ofthese

30. Which of these sentgncés has the comma in the right place?
a) Please get meg“o;ne eggs milk and some butter.
b) Please get mgzsome eggs, milk and some butter
c) Please getme'some eggs milk, and some butter

d) Pleasgget me some eggs milk and, some butter
Ver A -3 of §
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34.

35.

36.

37.

38.

39.

40.
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g&g@;he blanks (Q.No. 31 ¢o

3,

Choose the correct tenses from the given option to
Q.No. 32) C
theif wages were fixed.

as labourers in factorics where,
b) has employed ¢) gw.f?"c’}mploycd d) was employed
")

Most workers
a) is employed

in Delhi since moming.

b) had been mining
Read each sentence below and find ®ut whether there is an errgr. he error, if any
will be once of the part of the SCIIQ\ehfy%licll are marked as {;,;;, 3 and 4 (Q.No. 33 ¢,

It _ d).hf%,bccn raim'ng

L
o
. . b e H H ,
a) rained %5 s raining

¢

Q.No 35) QY -
Recently 1 visited (1) / Siné?}?gré and found (2) / the;&%neries to be (3) / breath —
taking (4). ’ /:%

c) 3 \% d) 4

m &
) RSV S
The present datas ({?‘AShGWS that the (2)/ death rate (3) / has fallen (4).
a) 1 o b)) 2 o)@;; d) 4

Darts are (1) /played by (2) / men as welk 5’/ as women (4).

a) 1 %&w b) 2 2. "6 3 d 4
N
4 . 9, : ’ S
Choqs&_&ge appropriate answer f%%n he given option &gj@f) 36 to Q.No 37)

- . . > ., . .
The executive summary in technical writing is anothgr'fi{;r%%e.

a) Cover letter b) Intr\%déction c) Disc s,lb%ﬁ
4
A proposal is a medium/éf‘éged at

a) instruction b) persuasion ¢) ipte vention

Choose the apg;qﬁg}riate answer fo thg%gjwn option (Q, 80 Q.No. 40)

They will rebui d the entire block. %, re
a) the entir€ block id being rebuilt, b) the b}\?@%{may be rebuilt entirely
ire block will be rebuilt

c) the e%pfg%lock will have torberebuilt  d) the,&n

Za,
The ca;z%n said to his m n%z?é?}and at ease” 4
" s ;%’ ol é@

z}()/%e captain urged his memsto stand at eas

@% the captain wantedshi’men to stand at g

) the captain toldﬁ ‘%’szﬁen that they should stand at ease
d) the captain co % anded his men to'stand at ease.

Th.e. f:uture pf ”\{'z@?nen in India is«ﬁite bright and let us hope that they will justify their
abilities by risjig to the occasio , Napoleon was right when he declared that by educating
women, we can educate th vhole nation. Because a Country can never rise without the
contribution of 50% of itsié Somiy

The passage best supporfsthe statement that :

a) India is striving,,hard for the emancipation of women

b)  All women shduld be well educated ’ ~
¢) A Nation cg@;ogress only when women are given equal rights and opportunities as

men
d) Womep-oufht to be imparted full freedom to prove their worth and contribute to the
progréssiof the Nation.
. Ver A —4 of §
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41. Which of these is the ¢ (Q”Ngi&

41 to Q.N
i No. 50)
letter? ight format for writing {| &é

2) 23/03/2023 g 1; daf M?l d" the formats or a busincss

b
) 23 March, 2023 ) rMarcR 23,2023

42. How is a complaint lettey sighed off "> d) both (b) and (c)

';1)) Iioolli(llng forward to getting pr?)mi)t deh{?}e A

c% ngkigg gOYWavd to getting promptzand ﬁi?, itive action /% 4

g lorward to getting tlmg(ly %hvery of goods o

43.

H)O\IV ;hould a business letter loof ]
a) It has to be professi GUKC . ,_
b) It should be wmteno:sa'l a-eCtWe by using the tempfg??@

Ing east words so that an ill
c) It has to be wntten si ﬁ% ly to an informal 133; lt%;é&can e

/g%%d) None of these

N
44. What s the send% ‘address of this letter? -
a) Adidas India % )*M/S Ram Prasad and Sons, Rewa (M.P)
c) Senders &ds not gwen &%z*% None of these
45. user to send a file with Ay Rty
a) dr

b) sent W) messengem&?’ d) attachments
g S

46. What is the use of Carbon Copy (CC)? o
a) recipient are invisible to 1 of the other rempre& ,of the message inCC
b) recipients are visible tQ 11 1°f the other rec1plenf5§of the message I ~"tkhe CC.
c) recipients are invisibieto only one recipigfitafithe message in th .
d) None ofthe abo e. ¢ (’%
47. Positive gesturg body signals that ma,k ou look.
a) arrogant b) nervous ¢ ¢) relaxed d) hurtful
’ 4‘%
48. Ifa speakéé@mks after saymg sd thing it suggests e audience that the subject is
a) n%}g%&cnous b) mc ble c) sefies d) true

%@

50. ich of these is idtatep in the listening process"

a) to stop talking 4™ lb) receiving ¢) misinterpreting

%ﬁ% * ok ok ok ok

+a pfesentation which %gSplay an equal é%%
zf{ Context and voweé@b) % and font ‘ ime and size d) sort and intent

d) responding

Vaor A -8 af§
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BKSKK107/2
rteedpRac B ZT3 ared B SwWa? 07
2) D.a], b) &, ¢) faoes{@g% d) D590

rieesey Sr0JOTRY, eeedadroriey enddon m&d@id Rad adrady?

a) Qméo‘l)o‘ h) Neddes 590T D)

JI59c0 833,300 rieede mgga%%daawm T B,
a) Coge b) D3, €3 c) Seaoo '% d) dewe

4
Br500owd aramh?

a) BB, zjém?,acia&

C) Bor) 5203, 0
samo—aé};s %ﬁw
a) 23 3, b) SoBTN d) 3eadr
HHRDBYD SoB ssg%@@
a) VO 3@(3 b) %3 @d i d) JoRe3x)0
d) teod
d) ©283eD
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USN T 6l&stion Paper Version : A
First/Second Semester B.E./B.Tech., Degree)

E{: mination, Dec.2023/Jan.2024
Balake Karméda P

O
(COMMON TO A“hl_. BRANCHES)
"""umax Marks: 50

™ A

lNSTRUC;gQg S TO THE CAND TES

Time: 1 hes.)

L. Answerall the fifty questiops! cach question c'm'%‘orfe mark.

2. Use only Black ball ‘8 %en for writing / da g the circles.

3. For each questiqry aﬁ‘ter selecting your answer, darken the appropriate circle
correspondmﬁ K same question nuinber on the OMR sheet.
4.

Darkenme@cwclcs for the same quﬁmn makes the answer invalid.
D'lma“noloverwrltmo, using .lyuteners on the @R sheets are strictly

prohibited. : : ,@f@

; L il N
Fill in the blanks with su@é words given: % é
~N °s
1. niinu &5\% o

7/]
.

a) yaaru &b) adu o COyaake & d) avaru
a & @
2. adu
a) yaara ¢ b) enu % c) niivu ¢ d) avaru
3. idu § : Kaaleju (1; § . @
a) niivu b) av, c) avaLa d) yaake
; Q :

4. Oggu gurugalLu?
@ nu (‘?}&aake C) namma d) elli
5. nanna Am% ‘

a) avalLu % b) avanu @ c) yaake d) idu

Write appropriate words §ll’ the blank and make sentence meaningful.

6. idu__ mane.
a) enu b}avaLa ¢) huDuga d) yaake
7. naanu andenu.
a) Kaalejige b) avana c)avara  d) enu

8. niivu hoguttiddira?
a) elligeig ; b) enu c) avara d) avana
Version A-1of4
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&
éﬂ? d) Nanna
9, varu ____— b) naNNﬂ ) ‘f/:? ®
a) nanna
rh\;x d) nanna
10. aduyaara_____ : c) entl y
a) Mane b) manc m?')?zvm AN
¥ )
Change the word as per the model: ﬁ:}" ’
(Ex : doDDa + avanu= doDDava nu), /%y é},
“‘ig% n
11. SaNNa - ¥ d) SANNAVANu
a) sannavanu b) saNI\f@tanu c) SaNNavaT\f%
12. Chikka (’ﬁ ¥ S
a) ChikkavaLu WCh fkavanu c) Cu%avanu d) CiK
13. KeTTa ﬂi ¢ o
a) kettavanu % 'b) KeTTavanu fé'%j(eTTavaNu d) KettavalNu
14. ettara
a) ettaraqfiaggu b) ettaravanu ¢ €16 Ettaradavanu_ d) ETTaradavanu
15. mane . 46, S
a) maneyavanu b) Maneyayvaﬁu c) Ma?e%%nu d) maneyavaNu
Y
Transform the followingg’?ords of Kannada.as’per the given model,
(SaNNa - SaNNadu) o <
<& 2
% ¢) doddadu d) DODDADU

16. DoDDa !
a) DoDDadu ":':% b) doDDadu

17. avara /@
a) avapgg;g;% i

’%
c) ava;;@{ d) AVARADU

18. namma /%
3)'nammadu ¢) nammaDu d) NaMMaDu
19.&&
a) hoSadu ¢) HoSaDu d) hoSaDu
20. aval.a y 4 b,
a) avaLadu [¢ b) AvaLadu ¢) avaladu d) avanadu

y '
Transform the followiqgﬁﬁds of Kannada as per the given model:
(mane — maneyalli)

21. raSte
a) raSteyalli < b) Rasteyalli ¢) RasTeyalli d) raSteYalli

22. pustaka bl ;
a) pust:%%?ﬂli b) .pustakaD'aIIi c) Pustakadalli d) PUSTAKADalli

Version A -2 of 4
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23,
24,

25,

26.
27.
28.
29.

30.

31.
32.
33.

34. /%gaw

35.

36.

37.

angaD;

a) angaivar——

lyallj
byag
a) byaginaj; —

daari
a) daariya]ji

Fill in the blanks with suitable

A

avaLu nimma

» BKBKK107/207
b) Angadiyaln ¢) “"gad@mgfw% d) angaDiyalli
¢
b) byagiNalli c) f,y,;?h d) byaGalli
b) daariyalli “3&) daarinalli dﬁgZiya“i

ba 4 V4
‘l“glyto make the sentence/;écgningfulz
s

a) akka ¢) anna A ¢ d) tamma
\

avara yaavum A

a)aane ‘m?) mane c) Mé\T\?E d) Mane

nimma hesaru : /\/&

a) enu : l; ¢ 7 b)yavadu A@ yaake d) Enu

avalL naﬁg -

a) sn:&l& b) snehita d) huDuga

Kaalejige hoguva _ yaavad;ﬂ )

a) Daari D) d% dg@l{l

-

Change the word as pe’f”’%e model given:
(KuDi — KuDiyiri)

tinni __@
inniri b

a) tinniri

a) Saviyiri

mare q%
a) mareyiri b)

Fill in the blanks usmg the correct form of the Kannada word to make sentence

oy

meaningful one.

4

d) tandiri

d) eseiri
d) nudiyiri
v p
'b) Savida & c) Satya d) Sullu
Ny
¢) MAREYIRI d) Mariri

K;lzij&

niinu

a)yaaru =, “‘% b) Yaaru ¢) YAARu d) yaru
indu ' uurige hogoNavaa? (we)

a) naavy { ¥ b) Naavu c) NAAvu d) Naau

A

24

&
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38. idu pustaka. (her) (Q 2
a) aval.a b) avana ¢) avara f/’? . d) nanna
39, nanna snchita, (He) If"} )
a) Aval.u ) Avanu ¢) :X"pm d) Namma
40. indu Kaalejige baruttiyaa? g"%" | /{N,
a) niinu b) Ninu ‘,%) neenu dfNeenu
» P
Transform the following words, Q ,Kannada as per the mt{ée‘!:
(ondu — ondancya) _ 4,5’;;:».
41. cradu ﬁ] i
a) cradaneya b@a’hcya c) l—la:&ﬁéya d) Mooraneya
42. muuru Y 4 5
a) muuraneya q}i,b Muraneya WQ\'AuuRaneya d) MUURANEYa
43. Aidu ____ g & ,@
a) aidaneya b) Aidaneya » c)aiduaneya d) AIDANEya
44. aaru ‘<%§' @
a) aarane?a b) aarane Y& c) Araneya d) AAraneya
Ve
& AN
a) enTaneya b) Entaneya ¢) entan€ya Y:EnTaneya
)Bgarey gle @
»
¢ o _
Translate followiqégords as per model: (irn — irutteve) £ %
o & LAY
46. baru “ s
a) barutte& ¢ b) Barutteve d) bartivi
47. hogu _ %= %
a) hogutteve b) h% ‘eve c) Hogutteve d) HOGUTTEVE
¢
@%«ﬂinnuﬁeve ﬁ%ﬁ‘innutteve 4w3c) TinnuTTeve d) TINNUTTEVE
'
49. KoDu
a) Kodutteve ¢) KoDUtteve d) KODUTTEVE
50. maadu % @
a) maadutteve b) mg@gTTeve ¢) maaDutteve d) maaDuTTeve
A@% * %k ok kK
&
3
¢
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USN
{ ';ffpi) ""?;,c )
First/Second Semester B.E./B.Tech. Degree E"i&%mmatlon, Dec.2023/Jan.2024
Scientific Foundat_‘ﬁi_{d‘lh"'of Health
"t

iy, )
Time: 1 hr.] " oy /[Max. Marks: 50
INSTRUC'I'IO&N\S;TO THE CANDID@}JES
ark.

%

' & ; y
Answer all the fifty questions, cqpp question carrics one m

1.
2. Use only Black ball pointé)en for writing / darkenin @fﬁc circles.
N Hom . .
3. For each question, afte/l?ge ecting your answer,’da ken the appropriate circle

a € -
corresponding to tlﬁame question number‘op the OMR sheet.

¥
4. Darkening two cir;gg? for the same questioﬁ"%akes th
e OMR sheets are strictly

e answer invalid.

p
5. Damaging/gvi@ iting, using whi»é%grs on th

prohibited\@"
1. Being mﬁc%ve form of life style is cglleﬁ as :
a) Sedentary life style ‘ b) spiriteg%ﬁ;%style
c) Bu«s%:iife style ’é'%‘% d) Lively:
A person who is able to sery Himself , his natiop andjhis
a) Gangster b) SicK person c)@i}g}l thy
tion and{?éequate rest is rg{’erged as

3. Balance in exercise , balanced nutri
a) Social health ﬁ) Physical health‘{%c‘{ Emotional ea%,h d) Intectual health
@

Individual wha,do*not think they w'ﬁ%glg/t%ﬂue are less likely'to get a yearly flue short is
o
c) Heplﬁ;g belief d) None of the above

/ds.called as?
) Saddest

an example of,
a) Negatjve belief  b) Uncert inity
S v

5. Emotio,j?’“ vhealth brings an 4bility in individual t6 2D,
a) React to the situation b) Respond to the situation

9{@?&’ ithdraw from the $ituation ), None of the above

6. A person has abiliuﬁ%f%éi)ounce back aﬂ%&ﬁifﬁcult experiences and édapt to adversity is
¢

called as healt

a) Mental heglthg ™ b) Financi :‘ﬁ\eyglth ¢) Social health d) Physical health
e{f% which inﬂuené”é%%sychological health is

ndset b) Gloomy outlook c¢) Dim view

8. One who suffer from m gf%lllness always see himself as

b) Gloomy & Pessimist

a) Happy and Active
c¢) Unhappy and Worried d) Both (b) & (c)

9.  Spiritual wellnegs\involves
a) Developiné*’compassion, caring and forgiving
b) Peace of mind, happiness and mercy full
dmhyalues, honesty and selfrealization  d) All the above
Ver—A-10f4

7. The prim

a) Positive d) All the above




10.

11.

12.

13.

14.

15.

16.

B A . -~y -
oy

; ‘ i er time affects " £, /
& of physical health for long LR o
Lack of p1Y and performance of 1 ndividual %‘}

a) Productivity P individual ; ’g
sinancial health ot e , 11 theabove
O Lo »f individual 2 é\l"‘;h’
'f}f’j?gh in fat and sugar leadsto

¢) Mental health ¢ ¥ 4
ener anse foods thatat :
fenergy dens b) (%%esity and overweight

An increased intake o
) Brain ‘%’d')ﬁ\/isual disability £,
5 7

¢) Brain hemorrhage o,

fongy

)
BT *eating means . gl e ht
Mindfulness of cating ¢, b) Enjoying food ¢
a) Chewing food o m V7 &) Both (b) & £
¢) Creating positive vibration lo% d ) Bo S Y
‘ fon of fats in every med %

What should be the proper pﬁ‘g T :

a) Equalto carbohydrateg{ }gjt fnins and mmerqls 4
b) Greater than carbohjﬁi‘;ates, vitamins and miner Su, A
c) Lessthan carbohyﬁ\i@e§ , vitamins and mmeralé%}z d) None of the above

Anorexia nervosa{Bulimia nervosa and Big@ eaters are belongs to

a) Eating disorders™ “b), Breathing disorders
c) Sleeping\r(i?ogégrs @%, d) All the above

The mndgﬁénfﬁl cause of obesity and over weight is
a) Baléince+in calori intake and calori,spent

b) Iinbalance in calori intake agg%alori spent

c) Calori spent is more than c%]o%ies consumed

None of the above

- - - 29 - 5 5
Excessive intake of nutrlen’{;%whxch creates a str€8s.on bodily functi %%*’alled as

a) Malnutrition @Z‘% b)s %er nutrition S,
¢) Modified nutrition i &Q’@%oderate nutritign

Which of the follo%ing i1s Non Comunicgb]e Diseases
;-

17
Gny ;
a) Stroke %;Z% b) Cold o & ©) Cough d) Fever
18. The follovy:ingfis an example for sa%ed fat
2 Pk b) Chickds o) Buffery d) Cheese
19. Exces§ of BMI (Body Ma%?«léggé&x) in a person le??% to
% Qincer b)% Obesity D Sugar d) Weight loss
20. @&{x‘;ymcal fitness in %quﬁe’ of
“a) Perfect hexght%zggj;vgg?’ght ratio * b) Perfect body structure
¢) Perfect body composition ‘ d) All the above

21.

22,

23.

i & )
Which of t{hg%jgjlowmg is behay@%gal addiction?
a) Nicotine %%’ b) Alcohol ¢) Drugs

:)llf:sl:ey strand to overcorr{c,é“ii}om addiction
OP using substancegys b) A powerful and positive mindset

c) P
) Poverty = d) None of the above

;’;’hxz(lildqf the tbgdﬁi,ng statement is true : .

b) Add{Ct{On leads'to physical disorders which in turn leads to mental disorder
i }Ct}f)n th'lch affects only physical health

c) g&; which affects only mental health

d) Gambling

d) All the above
Ver— A -2 of 4
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74, A major e ect and health hazards from substance addictiqrf“iﬁ'
a) Loss of self control b) Inju ry’%@w-fﬂ%————
Cardio vascular disorder JULY 77y 3
c) ascular disorder d) Fetdldamage
ddicti iy ‘ o Al
25. A‘ ICt\.O“ not only impairs a range of bodily f’ur{qfio,ﬁ" but also changes the way a person
thinks is referred as fan, &
A N T AN pa e . :
a) P‘}YS‘O\_‘)%‘CM CO“}PHC*\UOH (o b),, Psychological complication
¢) Biological complication g:%:?@) None of the above //
& .'qi 4?@7
i o Aoy,
26. _____isanexample for substance adglct:\ﬁ”?l. - ke
a) Shopping b) Video gam}zg@’ c) Tobacco ¢ d) Using internet
! £
27. Depression, Anxiety , Loneline%*’hr?ihe effects of & .
a) Substance addiction % : b) Behaviour dddiction
c) Both (a) & (b) eV d) Nong.ofthe above
28. What is SUD stands iﬁddf%tion‘? ,@:%’ ; .
a) Subjective unith i8tress b) Substance unit of distress
c) Substance u{ssiﬁoi:s:order /%; Xone of the above
29. The purpose©f. ‘using drugs are @
a) To deidxify the body 5
b) To ‘{f:@igh pleasure, relieve s%t%ss . forget problems
¢) To,boost physical health .8 ¥ d) All the abgve
30. Addiction not only damages ph;ysical and mental pcgﬂlﬁ%ut als‘o affects
a) Relationships & Financidl status b) {%Onbp friend circle (£
¢) Only economic statui d)@ %bne of the abovﬁg&i
h R,° @ |
31. A good listener is the gne who ‘ %
a) Non judgmentdl % More talka igeg,
¢) Make unco ,&r%ﬁble %4@ d) Create stress
32. The value of good relationship depends on 4
a) Self cdt Qe b) Mufiial respect
c) M&S&'@‘l money exchange§ J d) I&Ei;\ of the above
33. The art of transmitting(;ntion , ideas and”attitudes from one person to another is
;ég ed as { Ry,
@, Tradition ) Obstruction 4uy, *C) Communication d) None of the above
34. Goals of Commug%ﬁiga"tlon are i)
a) Sending gé;’idg eceiving of infowf%ﬁon
b) Informs { ‘persuade and to b‘ui,i: 'relationships
c) Encode 5fid decoding of information  d) All the above
3S.

36. Communication,

One of the step to increa§ vocal clarity is
a) Slow down the con¥ersation

! b) Fasten the conversation
c) Stop the wt;g;tmn d) None of the above

the key to healthy relationships b i
a) Avoid misuhderstanding y i

: ! b) Create misunderstanding
©) Brn:ggﬁ)ectatlon d) None of the above

Ver— A -3 of 4
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37. “Wearing scat belt while driving” is an example for “

a) Unhealthy behavior through social engineering

b) Healthy behavior through social engineering
d) Bot

¢) Social responsibility

38. influence people mindset to both posit%b}dnd negative.

a) Social gathering L) Travelling %c;?aMcdia

39. Dress code of individual is an example 6f: ;) " communication -,
a) Spoken b) Verbal % ¢) Non - verbal d) None of the above

&

40. An unhealthy relationship causem% %
8. b) Trust in'é;@é% other

a) Lot of stress
¢) Harmony in each other ﬁ& d) All the above
41. How to maintain bett m(:lilﬁy of life in chronic ;!algiess’?
a) Good medical advideyliving healthy life stylemd negative mindset.
b) Good medical 4d¥ice and positive mindset # 9
¢) Good medic ‘éﬁce and living healthydife style.
d) Good medical advice, living healthy lj;i%étyle and positive mindset.

42. The disea@hich cannot be cured%ut it can be managed is called as
a) Acute illness b) Infection{disease c¢) Chronic ilingss d) Allergy

d)~ All the above

43. The following is an example

a) Diabetes b) Cold* c) Cou
44. Following are the measﬁyifgflﬁgquired in maintaiginé’ Quality of lifeun chronically ill state.
a) Emotional support ), ‘Understanding the medication

¢) Reliable informatién about diseases, «it% ‘satment and mafagement
d) All the above ¥ o A

45. The following are the steps to avoid tFansmitted infections :

d.’%ead ache

a) Good hygiéene  b) Vaccinations  c¢) Te f%gature d) Both (a) & (b)
46. Virusg ié”"’cteria, Fungus are ﬁ%%gs of transmissio’hé} disease.
a) Infection b) r c) Stroke d) Obesity

Avior are commgnly“Seen in class of people.

47. &alth compromising :
Middle “y c) Low d) None of these

43%) High v_
48. Which of the fol

and experien@?«? »
a) Doctor= égﬁ ered communication
c) Practitioner — centered ;{:munication d) None of these

49. Health has intimacy withw, |
a) Behaviour E;Emzsociety c) Personality d) All the above

¢
g health co%r@ynication style makes use of the patients knowledge

b) Patient — centered communication

s
50. What is a sign ofié;gc friendship?
a) Lack of em% y b) Understanding c) Being supportive  d) None of these
e * Kk ok ok ok
Ver A -4 of 4
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S BPHYS102/BPHYS202

First/Second Semester B.E./B. Tech. Degree Exfinifiation, Dec.2023/Jan.2024

Time: 3 hrs.

Note: L. Anywer any FIVE full questions, choosing ONE filll question from each module.

Applied Physics fo{(}_s‘E Stream

¥

2. Draw ncat sketches where ever necessary, s, 4

3. VTU Formula Hand Book is permitted, ¢ b4 ; A
4. M : Marks , L: Bloom’s level , C: Course dutéomes. oy
§. Constants: Speed of Light C = 3 x 10°ndspBoltzmam const. K= 1.38%10 2K’

Planck's const h = 6.625 x 10°*JS, Acvelerdtion due to gravity g = 9‘/8" Q:Ks “

ey

’

rey Max. Marks: 100

4

4@&

Permittivity of Free space €0 =8 g&!x }:0212 Foi! R y
P Aoy
» ¥Module - 1 ¢ M|L| C
Q.1 |a. Peﬁne LASER .and exﬁl‘*’i‘@;the interaction of radia,,tifmyWith matter for the | 7 | L1 | CO1
induced absorption, \J} heous emission and stimu]ated emission.
A &‘“ »hh}’!
b. | Discuss different\types optical fibers based on 4nodes of propagation and | 9 | L2 Co1
refractive indeﬁﬁo ile. Wy,
A ;}‘w %\ ¥
4 A\
c. | Find a%‘?“gg\}}on in an optical fiber of length 500m, when a light signal of | 4 | L3 | CO1
power’ ‘IQ\@ng emerges out of the fiber with a power of 90mW.
N SV Ly
> ZSOR 5
Q-2 |a. | Obtain the expression for energy density of radidtion, using Einstein’s | 9 | L2 | CO1
co-efficient A and B and thus conclude B> = Bzgh%fféj £y,
N 4 Y 4 4.
b. | Discuss point to point ¢ommunication using®ptical fiber. b g 6 | L2 | CO1
Pay é’ g"@@«iy ;4\
c. | In a diffraction{Brating experiment the, LASER light undérgoes second | 5 | L3 | CO5
order difﬁagﬁg , for diffraction %ng}géﬁ 1.48°. The <grating constant
d=5.05 x 10~ m and the distance{ﬁ%ﬁve’en the grating and source is 0.60m,
find the wav@length of LASER%ighQﬁ@ @{y
"S%’ PN %V "‘:\ .
A A Module -2 e :
Q.3 [a. | State and explain Heiscﬁglgif;g"s uncertainty principle. Using the principle | 7 | L2 | CO2
%ow that electron doeﬁﬁz ééfexist inside the Kclgus.
. 2 KN
“p3,["Set up Schrodin éﬁr’%ﬁme independent wave equation in one dimension. 8 | L2 | CO2
éﬁ%ﬁ% L
c. | A particle @©f fnass 0.5 MeV/CZ has kinetic energy 100 eV. Find its| S | L3 CcO2
de-Brogléj\%ﬁ?élength where ‘Q«Xisx‘the velocity of light.
4}» -
P OR
Q.4 | a. | Find the Eigen values a%&ﬁ Eigen functions for a particle in one dimensional | 9 L2 | CO2
infinite potential wellﬁ%%
b. | Discuss de-Bro%(Ij‘e hypothesis. 6 | L2 | CO2
c. | Calculate the -éné}@y of the first three states for an electron in one 5 | L3 | CO2
dimensional potential well of width 1A,
K
é% 1 of 2




BPHYS102/BPHY S202

Module -3
Q.5 | a. | Explain the representation of qubit using Bloch sphere. .f”*af L2 | CO2
b. | Discuss CNOT gate, matrix representation and its opcfratlén on four L2 | CO2
different input states. ‘\ ?}'
ﬁm
¢. | A lincar operator X operates such that X |0) =| I)nn(hx Hy =10y L3 | CO2
Find the matrix representation of' X o /’"b
OR . "7
Q.6 | a. | State thL Pauli’s metrics and apply Paul mafhccs on the states |0> and };} L3 | CO2
: {‘**f»’ 2
b. | Elucidate the differences bet\veen'élaE’siCal and quantum computing. L2 | CO2
{70, fé{ o \ KT%,
¢. | Explain matrix leplesentatlonﬁo’r 0 and 1 states and apply~idefitify operator L3 | CO2
Ito |0) and |1y states. |2 o
‘(\Q . /w :
Y v Module — 4  m),
Q.7 | a. | Enumerate the f;allures"“ of Classical Free Electroh [CFET] Theory and L2 | CO3
mention the assumptlons of Quantum Free El,ectron Theory [QFET]
b, ‘Q‘ Ao é'w,
b. | Describe Meissner’s effect. Dlstmgunshib“étWeen Type I and Type II super L2 | CO3
conductgrs ﬁ‘}
A Jle
c. | Lead*has'% superconductmg transifién- temperature of 7.26K,If initial field L3 | CO3
at OKis 50 x 10°Am™, calculate,ftie: critical field at 6K. %;?’
L%
220, T, .
’ﬂ « OR %%’1 «@s /4}‘
Q.8 | a. | Define Fermi factor. Dlscuss‘the variation of Fermﬁfactor with temperature L2 | CO3
and energy. fée»,\@}i’ o o u,
xﬂjﬂ%
b. | Explain the phe omenon of super condﬁcmmy Discuss qua]lfatwely BCS L2 | CO3
theory of super; conductmty . §
_ A ‘ i ’&7‘4;
c. | Calculate the p probability of occupa};gn fion of an energy leyel 0.02eV above L3 | CO3
Fermi lgye] at temperature 2001{.
Py {% Module 5
Q.9 |a. Dlscus§ timing in linear m°gt1§m uniform motlonvslow in and slow out. L2 | CO4
~ a> A
b, Enumerate the dlfferel}ceﬁf)etween mferenuawl and descriptive statistics. L2 | CO4
%g@f % 3 A ‘/‘)
¢. | In an optical fi f'f;c %erlment thedjlght passing through the fiber, made a L3 | CO5
spot diameter of 8mm on the scrgen,, The distance between the end of the
optical ﬁbe?i‘ éable and the screen is 0.031m. Calculate the angle of
acceptancgj’zwd numerical apertur’e of given optical fiber.
A OR
Q.10 | a. | Describe Jumping and patts of Jump. L2 | CO4
b. | Discuss the salient features of Normal distribution using Bell curves, L2 | CO4
fﬂ*
c. | While ammatmg, speeding up car animation, the total distance covered over L3 | CO4
6 frames is 25m. ‘Calculate the base distance.

A&
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First/Second Semester B.E./B.Tech. Degree luxnmihaﬂnn, Dec.2023/Jan.2024
Principles of Programming Using C

Time: 3 hrs. Max. Marks: 100

Note: 1. Answer any FIVE full questions, clmming ONE Jull question fmm each module.
2. M : Marks, L: Bloom ’s level , C: Coutse outcomes.

Mmlulc =1 P M| L c
Q.1 | a. | Definc a Computer. Explain the characteristics of a digital computer. 10| L1 | CO1
b. | Explain the basic structure ofa C progfam with a neat dmgram 10| L1 | CO1
~OR '
Q.2 | a. | With a ncat diagram explain the stcps in the exceution of C popram. 10| L1 | CO1
b. | Explain the input and output statetnents in C with examples for each. 10| L2 | COt
» Module -2 O,
Q.3 | a. | Explain the various opcrators in C. T 10| L2 | COIl
& b. | Explain the different-forms of if statement with ﬂowcharts 10| L1 | CO2
o i 3 OR p
Q.4 | a. | Explain the switch:statement with an example 10 {j coz
\ 6 b o\ W
b. | Explain brcak and continue statements. with examples for each. 04 Eg CcoO2
£, A .
c. | Write @»C program to find the" largest of 3 numbers usmg nested if | 06 | L3 | CO2
statement. Ay
4 Module -3 s *."
Q.5 | a. | Discuss in detail the parts of a user-defined functlon w110 L2 | CO3
b. | Discuss the storage classes'in C. Q. o i 10| L2 | CO3
» OR A /7 P
Q.6 | a. | Define recursion. Q\Nute aC program to fmd the factorlal of"‘n’ using | 05| L1 | CO3
recursion. o N ), L3
b. | What is an array? Explain the declaratlon and 1mt1ahzatlon of 1-D arrays. 05| L1 | CO3
< & &, L2
. c. | Write a C} program to perform Matrix Multlplxcanon ] 10| L3 | CO3
3 . Module — 4 =
Q.7 |a. Wrr,te “functions to 1rnplement string operatlons such as compare | 10 | L3 | CO4
coficatenate and string lergth Convince the parameter passing techniques.
b. |Develop a program us;ng pointers to compuite, sum, mean and standard | 10 | L3 | CO4
deviation of all the; elcments stored in an array.
& -’ OR
Q.8 | a. | Definea pomter Discuss the declaratxon of pointer variables. 05| L2 | CO4
b. | Discuss the various string handling functions in C. 10 | L2 | CO4
c. | Write a C program to swap two numbers using call by reference technique. | 05 | L3 | CO4
“Module - §
Q.9 | a. | Define a structure. Explaln the types of structure declarations with | 10 | L1 | CO4
examples for each. 4
b. | Implement structures: Jo read, write and computc average marks and the | 10 | L3 | CO4
students scoring. below and above average in a class of ‘N’ students.
OR
Q.10 Drfferentxaté between structures and union. 06 | L2 | CO5

e =

Define a%gtructure by name DOB consisting of three members dd, mm | 06 | L3 | COS
and yy: “Develop a C program that would read values to the individual
member and display the date in the form dd/mm/yyyy. ,

[ c. | Explain the various file operations with syntax for each. . los| L2|CO5
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First Semester B.E./B.Tech. Degree | xumimﬁtion, Dec.2023/Jan.2024
Renewable Energy Sources

Time: 3 hrs. Max. Marks: 100
Note: 1. Answer any FIVE full questions, chnmlng ONE full question Sfrom each module.

2. M : Marks, L: Bloom’'s level , C: Colirse dutcones.

Mndulc—- 1

' M| L
Q.1 | a. | Briefly explain the principles of renéWable energy, energy and qustamable 10| L2 | CS)I
development, fundamental and socml implication of renewable‘energy.
b. | Briefly describe biomass encrgy and Internet of energy. - 10| L2 | CO1
_ o & OR
Q.2 | a. | Briefly describe energies from ocean. ¢ 10| L2 | CO1
b. Brleﬂy descnbe geothermal energy and, solar energy. 10 | L2 | CO1
/\
“Module -2
Q3 |a. Explam solar radiation and /ts estimation on, horlzontal and mclmed 10| L2 | CO2
surfaces. o My,
b. | With neat sketchcs cxplam the workmg prmc1ples of Pyranometer and | 10 | L2 | CO2
Q4 |a. Explajﬁiéblar pond and solar, d{i*sjtil,lation. 10 | L2 | CO2
b.. fEx;;iain the principle of Q}}dtovoltaic systen{ with applications. 10| L2 | CO2

N Module — 3
Q.5 | a. | Explain with: afneat block diagram, the basic components of Wind Energy | 10 | L2 | CO3
Conversmn System (WECS) spec;tymg the components of a wind turbine.

o

b. | Stating advantages and_ dxsadvantagus claborate in detail, the working 10 | L2 | CO3
principle of a horizontal axis wind turbines.
¢ ?
L 5 T OR B AL
\ Q.6 Elaborate on‘photosynthesis process. J

& 1 of2
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b. | Explain biomass conversion technologics. 8 | L2 |CO3
c. | Explain with a neat sketeh, downdraft garificr. 6 | L2 | CO3
Module - 4 ;
Q.7 |a. l):l\plt"un with sketches, working of single. and double basin tidal power [ 10 | L2 | CO4
plants /
b. | Summarize the advantages and limitation of tidal power generation, 10| L2 | CO4
OR
Q8 | a. | Explain with sketches, WOrkmg principles of open and closed cycle Ocean | 10 | L2 | CO4
Thermal Energy Conversion (OTEC) system.
b. | What are the p‘robj:ems associated with OTEC‘?,_ 10| L2 | Co4
P Module -5
Q9 |a. C1a551fy fuel cells and explain the‘workmo of hydrox (H'} O;).:fuel cell. 10| L2 | CO5
b. | Describe in detail about hydrogen energy storagg:c;ina'?éﬁlications. 10| L2 | CO5
OR k.
Q.10 | a. | Explain with axsketch elcctrolysw method used for hydrogcn energy | 10 | L2 | CO5
production. ‘--.v&;z) 4 f, @ AR
b. stcuse the problems assocxatcd thh hydrogen energ y 10| L2 | CO5
: > z\
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First/Second Semester B.E./B. Tech./B.Ds. l)q_,r(.e amln'ltlon, Dec.2023/Jan.202
Commumcatlvé ngllsh

{ y"

Time: 1 hr.] [de Marks: 50

y
T

(‘

INSTRUCTIONS TO THE CANDIDATES

1. Answer all the fifty qucstm(ns ?\;ach question carries one fnark

2. Use only Black ball ponf’tﬁ)ct{ for writing / darkc;m g@?he circles.

3. For each question, ﬁ, selecting your answer, darken the appropriate circle
corresponding to: (th Same question number on the OMR sheet.

4. Darkening twg citcles for the same questlﬁ%ﬁ‘makes the answer invalid.

S Damagmg?overyv,vntmg, using wh{ieners on the OMR sheets are strictly

b 4
prohxblt«d ™
Pl
Read Comprehensmn : Read thé%»'passage carefully and select the suitable answer
from® th\e given options : &3 £

Quite recently India laid the founda'uon stone&for one of its most sought — after
projects running a Bullet \;ralf{ It was very well .considered as a Qrepam project of the
Honorable Prime Mmlster “Entire India felt proud of having 1ts ﬁrst “ever bullet train
scheduled to run betw’een Mumbai and Ahmedabad a distance”of 508 km in about
2 hours 35 mmutes Inshis own words, “;l"o grow, one needs to expand one’s dreams and
decide one’s strength to achieve that. It’s ‘thée New India Wthh has to fly high”. “Bullet
Train is a prolgctﬁ hat will provide pﬁce 16 development aAlong with new technology, it
will also brln&esults faster”, h¢ *added According to “Achal Khare, the Managing

Director of.thé National High speed‘Rall Corporatlonz%the project would be completed by
Decemtg% T 2005. y: ¥

1. The -~ for the Bullet@' ranﬁ%)m]ect was laid recently.
/a?~ railway track bf%/mgnalmg systen&f \{)/ foundation stone  d) None of these

2 @ﬁq’he bullet train will4 %g about to*’run between both the States.
a) 3 hrs, 25 m"%;j 2 hr, 55 min ¢ ©) 2hr, 35 min d) None of these

3. According to} ime Minister, th‘éf tWo benefits that the bullet train will bring are to

provide page t 7 to faste\?
a) travel , trains ¢ b) train, travel, results
¢) development, trains %, . d) development, results
4.  The bullet train schedul'é&nrun between and
a) Mumbai and Ahmedabad b) Mumbai and Delhi
¢) Mumbai and yjarat d) None ofthese
5.  The project is e):(pected to be by December 2023.
a) completed” b) operationalised c) started d) None of these
&&;é’ Ver B-1of4 '
¢
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Choose the correct option : ’3

was visible at this late hour.

* No man b) No c) No ‘jﬁé]%\y d) None ofthoq.;e

a)

L
7. The tycoon had expired before the ‘ (I?Qs:cian arriving
) Physician arrives %quan had arrived
¢) Physician arrived . /Qy
: , I will tell him everything.
> z\:)l h::: IS coming b) he comes Q c) he will come ’"Q’ None of the abm,e
ich of ided 1 %ntatlon? ,
9.  Which of these must be avoided ut* ‘4‘» d) Clear voia

a) Proper grammar b) Con% ords c¢) Short sentq&

10. Which of these can be used %&ak the monotony in a sBeech? o
a) Humour b), d’nstant tone c) Lo%lce d) Sad story

11. Mother tongue inﬂuex@@an be effectively minimizéd in the classroomby
a) using the mother fongue more often  b) giving examples from the mother tongue

¢) givinga lo&r osure in the target lz}@age
d) giving inputs from the target languagsgg simple graded manner.
12. The art ar and concise ma% of speaking, with clarity of meaning and thought
called £ %, A
a) %@ﬂ%ﬁ b) Latencys,
2

Fill in the banks with appropriate prefixes :

13. The army people ___aftacked the enemy.
a) in- U}@ ter

d) Story telling

S

14. My research Superyisor is
a) hyper wy, D) un d) i
@@. ) Intra
Choose the pairs of word / phras & e’

15, Archlve‘/%@cument
a) ouse : mercha
©) "Eheater : Plays

Toib rary : Shelves

& #Cinema : Projector

river : dam , c) gold : metal

16. .Coal : Mineral
/“'%3 Oxygen : W3

Choose the correctsubject — verl{ggncord in the sentences -

17. Diabetes Ry, killer. "&&
a) is b)

d) silver : mine

K 4 ) were d) None of these

18. The Jury gave vqﬁ’c in an unbiased manner.

a) their em c) its d) None of these

Complete the sep{wce with appropriate tense from :
19. Sir, I passed my B.Tech in 2003

a) have s b) has ¢) was d) Not required

o\ Y VerB -2 of 4
A ®
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g 5 we ____finmished our assignment just now

R,
. fé‘., b ;
[ 7 a) have b) has ¢ had %" d) Noneofthese
1. ‘Communication’ The word originates from Laten word q%
a) Communicm b) Communico C) Commﬂmcatwe d) None of these
92. Communication is a process. {ﬂf f;
a) one way b) two - way K c) 1h1ee way d) None of these
23. In order to achieve the production target, for a particular month,‘ the discussion held
between the production manager and, sup}’)l manager will certamly\b% a perfect instance
of Communication. y p
a) Vertical b) Spiral 3 1‘; c) Cross wises@ d) Horizontal
24. “Poor Printing’ it is a type of Bartier .
a) Verbal barrier

Aym%' %

b) Psychological barrier

c) Physiological barr ,r ' d) p A’é’mal barrier

25. ‘Transcendental

d\ta
a) Extrapersonal

ion’ is example of

Commumcatlon
$b) Interpersonal

c) “Intrapersonal d) Non - verbal

26. The most strafpht forward, basic inte%ﬁérsonal communication meaning is
Communi€ation.
a) Mags"Gommunication

b) Interpersonal
¢) Exirapersonal

d) None of*these

27. Flashing eyes, avoiding e

> oY
ye contact may also causg;’@f:% to effective Communication
a) Vernal barrier ga,, b) *’t,lstemng barrier - ¥
c) Psychological bam%% {% 2] on — Verbal barrier’
28. In general oral Commﬁmcatlon is the mf’éi‘ch%ge of f«sﬁetween the sender and the
receiver. ’ %%./ @‘%‘
a) cuesandcli€s b) speaking. % c) gestures d) verbal messages
®
¢
29. ‘Follows‘{@%fset pattern such Q}Z;equence of eleﬁents in a report’ this is
Comrrgxm&a ion. N
a) Professional b) ;ﬁ cne%al c) Personal d) None of these
30. }ﬁh “Qrganizations, 1nfori<§a ?’éommumcatm%éso permeates. This informal communication
Ss.called E AN
%) Personal

, gs Professional ¢ c) Grapevine

d) None of thee
31. One native reg al accent that Eg gai'ned social prestige is the of English.
a) Received, ? unciation b) Reverse perception
c) Transcnphon ¢ d) None of these
32. A vowel sound whos %\ty does not change over the duration of the vowel is
called
a) Vowel . b) Diphthong c¢) Pure vowel d) Consonant
33.

The consonanusg}mds that come before vowel sound are called
a) Coda ’ b) Onset

¢) Medical d) None of these

£

R
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34. What is the division of syllables of word ‘Information’? @

a) in-form-ation b) inform-ation ¢) in-formation d) in - for - ma - tion
35. Transcribe the word ‘daughter’. ﬂ%

a) /'dd:t9/ b) /dD"tO/ c) /d ¢/ dy /d3:td/
36. ‘No. The women with the plastic bag’. In thls"‘sl}nw?cncc which words are having falling

tone?

a) No, The woman b) Plastic bag (};) No. bag ,c\lﬁ%Nonc of these
37. Find the silent letter in the word ‘thou l{ - )

a) th b) ou /%  ¢) ugh ¢ d) gh
38. Inthe word ‘Sheep’ often mi ‘rg\"bunced sound is @'fiy

oh % )
a) /[/ b) / /&z c) ee d p
¢

39. Correct the spelling of tl(%)[ollowmg word : s

a) Renumeration ):%Remuneratlon c) ,ng:munation d) Remuration
40. How to pronounce he word ‘Next’? i

a) nekast \% b) nekest c) nekist d) nekst
41. I have ___/_“&\_ o buy a car. (Use appropria{e noun)

a) noiupees b) no note A;éy C) no mone) d) no moneys
42. and want to pur‘c"’hase a yacht. (fill w1th"«su1table pronoun).

a) He. Iand you Youghe and 1 c) I@%%hd you d %You I and he
43. The flower smells __4__ féA%propnate Adjectlyefls) »

a) sweet weetly c) Sweeter = d) sweetest
44. 1Itis hotter/%oday, (place an adverb%

a) most 4% b) very »s C) more d) much

<, 9 Va

45. Hardly h;gd he arrived the yonxco crumbled@hoose correct conjunction)

a) thatty 7 b) then, c) %en d) None of these

Ay

46. We could barely do an}}thifn%(smtable questjon¢Tag).

P),% Couldn’t we? b}‘zﬁould we? 9§c) Can we? d) None of these
47% Person who be 'ges*m God, we call hi%i%’

a) Theist % J b) Atheist ¢) Eccentric d) Spinster

48.

49.

50.

o, &
‘I saw a m n’{:{%this sentence wﬂgh is pronounced with a weak verb, without any special
emphasis.

a) I b) pdan’ ¢) saw d a
Flour is made w@ht (suitable preposition)
a) of by by ¢) from d) in
Humamtyris in danger. (Choose the correct option).
a) A 4" b) An ¢) The d) Not needed any article
&' * % ok k %
> ‘,\ VerB -4 of 4
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Quesﬁt_i"(‘)‘n“i’aper Version : A

First/Second Semester B.E. Degree Examinht\ior)i; Dec.2023/Jan.2024

Indian COnstitufion

Time: 1 hr.] [Max. Marks: 50
INSTRUCTIONS TO TIIE CANDIDATES
L. Answer all the fi ifty questions, each qUest:on carries one mark ‘
2. Use only Black ball point pen fot wntm;, 3 / darkening the c1rc]es
3. For cach question, after sclectmg your answer, darl(en the appropriate circle
corresponding to the samec qucstmn number on the OMR sheet.
4. Darkening two c1rcles for the same question makes the answer invalid.
S. Damagmg/overwrltmg, using whlteners ‘on the OMR sheets are strictly
prohibited. . &
1.  The idea of a. Constltuent Assembly for Indga was put forwarded by -
a) B.G. Tllak ) b) M.K Gandhi  c) M.N.Roy d) Motilal Nehru
2. In Whlch year did the Indian Nat'onal Congress for th ﬁrst time demand a Constituent
Assembly? da)® :
a) 1934 b) 1935 ') 1936 d),. 1937
3.  First time Constituent Assembly Constituted undy ; the scheme formulated by the
a) Cabinet Mission Plan," (b) « Mount Batten Plan™
¢) Non- Cooperatxon Movement ;
4. Members of the, Constltuent Assembly%were x R
a) All Elected=: 7+ b) Al Nommated
c) Partly elected and partly nomi d d) Selected
5 Constxtuent ‘Assembly hold its; ﬁrst meeting on .
a) Nov 19, 1946 b) /Dec 9,1946 c) Nov 9, 1947 d) Dec. 9, 1947
V 6. When d1d “Objective Resolutlon was adopted by the Constituent Assembly‘7
/ ;:\; a) 1946 :,b) 1948 c) 1947 d) 1950
7. “AF irst Draft of the' anstltutlon was published on
a) Jan. 24, 195() b) Jan. 24 \l 948 c) Aug. 15, 1947 d) Feb. 1948
8. Drafting Commlttee had number of members.
a) 10 g b) 155, * c) 07 d) 05
9. Provincial Constitution, Commlttee was head by
a) Dr. Rajendra Prasad b) Dr. B. R. Ambedkar
¢) Sardar Vallabhal Bhai Patel d) Jawaharlal Nehru
10. The concept of: “A Umon of States™ in the Indian Constitution has been derived from
a) The American Declaration b) The Australian Constitution

c) The Brxtlsh North American Act d) The Swiss Constitution
e Version — A —1 of 4




“any

d) Democratic \

[ndia is £
11. India can make its own laws because, c) Secular. . ' ‘
a) Independent ) Sovercigh v N 1)

t

12. Preamble is _ b) Amcndable Par’
a) Part of the Constitution d).. Both * a’ and ‘C

¢) Non- Amendable
. hese
¢) Extratcrntonal ) None of't

13. Fundamental Rights arce
s in hands of citizens to

a) Enforceable b) Absolute control

14. “Rights are not only the pnvrlcges they are the \veagOH
the Arbitrary Government” — who gave this statement? 1.4

a) Dr. Baby Rajendra Prasad Ry, ¥ b) S.V. Pat¢ dkar
¢) J. L. Nehru : : ) Dig 5. R Ambe

15. The Preamble to the Conetltutlon declares Indiaas >
a) ~Sovereign , Democratic , Republic ., .
b) Sovereign, Socialist; Secular Democratic, Républlc
¢) Socialist , Democratic , Republic 0
d) Soverelgn Democratlc Republlc Secular

16. The Preamble alms to secure )
a) Fundamental Rights o b) Fundamental Duties
c) Dlomty of the Individual d) Securit ‘of the People

17. Freedom to form an Assembly can be restricted on the ground
a) Public order b) Moralrty c) —H ’ d)» Wealth

18. Fundamental Rights aré not ‘applicable to

a) Foreigner B
c¢) Members of Armed Forces

For enforcement of Fundamental nghts Supreme Court can issue
d) All the these

19.
a) Anorder b) Dire c) erts y

20. Provrslons of Art. 20 applxcable only in
a) Crlmmal cases b) Crv1l cases c) Administrative cases d) Military cases

/

It is'a law passed to grve effect to dlrectrve prmcrples of State Policy.
% b) Right to Information Act

d) Passport Act

21. T
#:.a) Equal Pay for Equal/Work Act

¢) Juvenile Delmquency Act

22. Fundamcntal Dutres are __ b
a) Enforceable b) Absolute c¢) Restricted d) Non - enforceable
23. Free Legal Aid is appllcable to
a) APL Families b) Financial Incapable Persons
! d) CPI Families

¢) NRI Families

24. It shall be duty of the every Citizen of India
b) Renounce Foreign Culture

a) Value our ‘Culture
c) Impose our Culture d) Preserve Western Culture

Version— A —2 of 4




25.

26.

27;

28.

29

30.

31.

32.

33,

34.

3.

36Wh1}ch one of the fo]loﬂg;iﬁg Bills must b’ejﬁ‘zissed by each House of the Indian Parliament

37.

38.

BICOK107/207
Fund . 2
o n él:;mlal Rights and Directive Principles are oLy
¢) Ext plementary to each other b) Opposite{o each other
cision to each other d) Nonéofthese

e

All the Executive powers of Union sh

. all vest with_* .~
a) The Prime Minister b) The Presi |

dent  c¢)- The Parliament d) The People

Who is Competent Authority in India to déclaré War? / .
a) Defense Minister b) Prime Ministef *, ¢) Chief of the Army .d) President

Union Legislature shall be -\
a) Bi Cameral b) Uni Cameral ¢) Tri Cameral’ ", d) Any Cameral

There shall not be more thari |~ gap between two sqgid’ns of th; )Paglxa;z::t.
a) 6 months b) <6 weeks c) 6 days >

The Prime Minister isf\‘\“:f-j‘f : .
a) Elected " ‘b) Appointed c) Nominated d) Both (a) & (b)

Maximum strength’of the Lok — Sabha is %,
a) 550 &) B)i550. 427 oy 6)” 545 d) 600

Which House of the Parliament is known as Elders and/Kn;gwledge PCIIOUSNe- K
a) Lok Sabha b) Raj--Sabha c) Both . %~ ) No

£

How many time is Presidcnﬁc_ah return the Bill for consideration to Parliament?

LS

a) Once oy b), “Twice %

¢) Thrice td).,"Any number of times
Which of the following non — member of*Parliament has the'right to address it?

a) Auditor General of India ../, b) ChiefJustice of India
c) Attorney General of India d) Chief Election Commissioner

Sovereig”frili'fy’oflndian Parligm;iﬁw‘ié restricted by, =,
a) Powers of the Presidents, i b) Judicial Review

c).. Leader of the opposition.. «d) "Power of the Prime - Minister
Py N P < Ly,

Y

‘'separately by special majority?
a) OrdinaryBill"~ Loy, b) Money Bill
c) Finanf:eBigl ; d) Constitutional Amendment Bill

&

To be recognized as an official opposition party in the Parliament, how many seats
should it have to win? < %

a) 1/3" of total strengtl{“f‘i*f :

¢) 1/10" of total strength’ b) 1/4% of total strength

d) 1/6™ of total strength

e

This is not the Q{j‘ipiﬁittee of the Parliament.
a) Stapdmg Commlt.tee b) Public Account Committee
c) Estlrr?fteS'Commlttee d) Welfare of Minorities

Version — A — 3 of 4
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39. The Salary of the President and Vice — President is charged of

a) Contingency Fund b) P.M’s Fund)
¢) Parliament Fund d) Comohd'lted Fund

40. The Parliament of India exercises control over the functions of the Council of Ministers

through
a) Adjournment motion
¢) Supplementary question

b) Question hour
w.d)” All of these

o interpret the Constitution?

41.  Which among the following is the final 'ltithorltyt
ter d) Parliament

a) President b) Supreme Coturt ¢) Council of Mmls
42. A Governor holds office .5 W, :
a) For Five years ( b) For a period speciﬁed by the Parliament

¢) During the pleasure of the Pre51dcnt d) None,of these
43. Chairman of Leors]atlve Councnl is \
a) Appointed by the, Governor b) II‘ he Governor
¢) Elected by the, members of the Leglslatlve Councﬂ
d) Appomted by the Speaker Y,

44. Electlon Commrssron 1Isa
a) Elected body
&) Statutory body

b) Constitutional body
d) None of these

45. A proclamation of Natlonal Emergency must be placed before the Parhament for its

):‘;Wlthm 6 month , d) Within 1 year

approval. :
a) Within 1 month b) Wrthln 2 month

46. President’s Rule can be imposed for a max;mum period of i
a) 1 year v b) 2years . % c) 6 month * d) 3 years

Which Constltutlonal Act made elementary educatxon aFundamental Right?
a) 86th CAA 2002 b) 87 CAA 2003 ¢ 915‘ CAA 2003 d) 100" CAA 2013

47.

Who summons, prorogues and dlssolves the, State Legislative?

a‘) .Chief Minister _b) Speaker
,»;f;c) Governor of the State “.'d) President of India

48.

Minimum and Maxxmum strength of: the Legislative Assembly is

49.
a) 60 and 500 b) 40 and 100 c) 70 and 700 d) 100 and 1000
50. number of people rcpresents graduate Constltuency in the Vidhan Parishyadh
a) 1/10™ b) 2/3r c) 12" d) 1/5"
A * &k ok ok
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USN .

First/Second Semester B.E./B.Tech./B.Des. l)(ég?cd Examination,Dec.2023/Jan.2024

Innovation and Design Thinking A
Q::'.n:) K \ 7
o,

@?—*»}..;‘

A ”‘.Q'JM‘ ’

Time: 1 hrs.] ¢+ [Max. Marks: 50

e
p. :}‘r

&
‘”ﬁ ‘ \}?’
INSTRUCTIQNS TO THE CANDIDATES
(‘-’i e’ '»};5

L. Answer all the fifty que\ﬁi%’ﬁs,‘each question carrigé;?gr:e mark.

2. Use only Black ball ;ﬁ}t pen for writing / darlglhing the circles.

3. For each quesﬁio‘iﬁ;}ﬁter selecting your answer, darken the appropriate circle
corresponding;td”'t'he same question %mber on the OMR sheet.

4. Darkening%m circles for the same question makes the answer invalid.

5. Damag};gg overwriting, usi%@iteners on th%{é{@MR sheets are strictly

X AN Y
prohibited. g ("%% P
1. The stages of the design thifiking process in orderdre,~ gé,\} X
a) Understand > Draw >;«l§§5te > Crate > Test,, ® @:? Aoy,
b) Empathize > Define > Ideate > Prototypqg@g%t ¢
c) Empathize > Design > Implement > Produce > Test é"
d) Understand > D:éﬁﬁ”‘e > Ideate > Prod c€ " Try ’Q;?

2. The comprehensive principle of desfgiﬁl\inking does not intlude

a) Relationéhi b) couatjérgtion
c) Commiﬁ ation ek d) Sup@éfers
Aoy, =, "
3. Design Thinking typicalll‘yghelﬁ?in ; ¥
a)‘Innovation ‘6§Data Analysis
&;g J\Zarketing Manag_ch@cﬁt /@&) Operation Management

4. Mr. ABC wants tg’é%sxgn a new be%&ha“f' he can sell to nursing homes to use with their
patients. Howgvef, Mr. ABC doesfi’t ‘Want anything to do with older adults or people

with disabili,giesw?l;\ccording to thé;ﬁg&ign thinking process, Mr. ABC will face problems
because he is tissing. ot
a) Empathy b) Cgpag‘;yity c) Practicality d) Imagination

5. The three I’s of design tﬁ'i?t(mg do not include
a) Interest b) Implementation  ¢) Inspiration d) Ideation

e

U,
6. In design, whe;gidgeg the information used to put together a problem statement come
-& ’

from?
a) The design stage , b) The ideate stage
c) The dc@:@stage d) The testing stage

Version A -1 of 6
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o 1}2}, ' :
: : i fototype in the test stage of
7.  Collecting is an important portion of tcstmg»:i‘l‘?%% yp

design. s
a) Picturces b) Money c)F C‘{‘]@c‘k

d) E mails

N ‘
8. Apototype is a simple experimental model of apt ! oscq solution used to
a) Test ideas 'B) X/;llldate ideas %,

¢) Both ”\{, , .
9. Identify the correct statement &‘%ﬁ’ . . !
a) To derive the power of design _thinlking, individuals, teams{%‘l}d organizations must
have a leap of faith about the @%tence ofa solution. 4 0™ )
b) Leap of faith is the page fnthe manual of design thinking containing the core
philosophy about desig;n»&iﬁkl;g .
c) Design thinking presué‘p oses that some people aﬁ inherently creative and become

successful in creativé}gfoduct development. Thén%?%m should have atleast one such

person. ;
d) None 0fthescg® & Vs

10. Which is not Hagic modes of thinking? "ﬁ%b
a) Analyticalte)  b) Judical # c©) Critical d) Synthetic

11. Desi%%nkér in an organization arg o~
a) People A, b) Emplo%e”é%

¢) Managers ¢ d) All gfjth&se
1({ {% vg ¥ ﬁ?

12. What is the main ObjeCtl‘;’eﬂ\)j the empathize stagg 1nf*‘éesign thinking

a) Understanding the problém @%@%emﬁng ideas
c) Identifying the us%; needs (""f:l} uilding prototypes
e b ¥
13. Mind mapping didgram provides mfﬁg‘j?o?i about Aég

a) Customer and product interaction, <
b) Idea andits interaction among:other'ideas
c) Visu liz%ﬁ‘on of problem s}a;e%m

d) Norieof these ) |

5
14. V4 ueé::hain analysis prdf%%s»provides {.%"
@)ﬁétter understand}ng of Histomer expectations
“4=b) Uncover the inf})@y%ﬁbn about partners capabilities

c) Better market dnalysis i
d) All of thesg«y, &

Which oneg%@the below helps eienerating hypothesis about potential new business
opportunities? ‘
Yy, b) Rapid concept development
ANy

a) Prototype
c; Ideatc?,p d) Learning launches

&

15.

ﬂ 7 -
16. A visualization a?tiyity was performed by the employees of a bulb manufacturing
company which in¢ uded information in the form of

a) Images of vafious types of bulbs produced by the company

b) Its application suitability to the customers in the form of stories .
c) Clears ofagduces the possibilities of unmatched mental models/pictures

d) All ggéﬁﬁ above Version A -2 of 6
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17.

19.

20.

21.

22,

23.

24

25.

26.

e,

BIDTKI1 5{§}/§%TK258/22BD1 6

. i,
The goal of the prototype phase is SV’

a) To understand what component of' your idea didn’t wor
b) To understand what component of your idea wotkéd ®
¢) Both of them b Pl
d) Nonc of them A "‘mf&
is a tool to use the (icsigt@h:)?ﬁ,ls and terms to devéi(f%?/nc busi
opportunities. o e A R
a) Visualization ‘5“" b) Journey mapping ¢
¢) Rapid concept development d) None of these £ ™,

Which tool is used for feasibility check of assumptions of the flew business ideas?

a) Value chain analysis ¢ b) Rapid ¢ nc'gpt development
c) Prototype d) Ass xﬁc)%on testing
3

Iderlmfy the pmce%ﬁt brings users and designsrs together to work towards a shared
goal.

a) Problem statemént formulation '(b%!bustomer co-creation

c¢) Value chai‘n\affalysis @;\:3‘) None of these

» - - - # . -
Which S 1s a quick and 1nexpeg@£"e learning test to collect market driven data?
a) Leamwgiaunches "%& b) Prototypigg"s%;
c¢) Customer co-creation d) None of; ‘thg;%'e

4 S,

What is an example of a mgtﬁ%gi for conducting tis%é?earch?
a) Surveys ~ b) Usability testing
c) Design sprints ~ d%%Alﬁof these ‘9

¢ B
What is the procesé%;ﬁ collecting and anal,yz';%g data on howeéx’gers interact with a design
in real time called’ i Ay,
a) Real Time design interaction cap@fg% P
b) Real Time gesign analysis
c) Real &é’desigm interacti %S’Sis
d) Reahxgx‘%he design intera ,xmiig

apture and analy'ég
N 4
hat fs the main goal ofie ’%b ing efficient cgff;; oration in digital space?
,%‘%T”o’ create a digital gnvjronment where t é”xﬂ;,members can easily share ideas, provide
feedback and work together on projects in’real time.
b) To develop a pfé’fgﬁt managementé\?ﬁﬁ/are for team members
c) To train tearmpiembers on how tolus

i se design collaboration software
d) To imple%ﬁ ideo conferencigg}ools for remote team members

What is the purpose of user stiﬁ' g?

a) To gather feedback and t’ify areas for improvement in a product or service
b) To create a user-centefed design

¢) To create empathy map

d) To conduct uszgcgfarch
fo

Which one of tHe: lowing is not a part of various business process model steps?
a) Process g?gaps b) Process detection
c) Proces i(pitation d) Process termination

Version A -3 of 6
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/bé omponents based On
Jes her business proccsses mbsm comp v

i
27. An employer Mrs, AB dl:n(cc for the business is cal

their functions and perform /. o

a) Building Product Management N
b) Business Product Management ("if

¢) Business Process Modelling

d) Basic Product Management
i ign thi 1[,%?

is the s of design thinkir
28. :;nlla;‘tﬁ:lg;; main focus o g 'ﬁ/ b) Cost effectiveness #
. y d) Innovation

¢) User-centeredness
s allows for the coﬂﬁboration between designers,

29. Which stage in Design Thmklﬁ ”

ces
developers and stakeholders? |
a) Empathize _ f b) Deﬁn&
c¢) Ideate d) Te§%

30. Which one of the 151 Qing are advantages of usfness Process Modeling?

a) Align operations,with business strategy
b) Improves proces§ communication
c¢) Improv. yerational efficiencies %
d) All ofzéi%%e

31. How ﬁ&ébemgn Thinking in IT lfn%j‘ ve product SCI'VICG.S
a) By identifying user needs and pain points
b) By considering different perspectlves
c) By rapid prototyping an\d%ge ting
d) All of these “,

processes?

24
32. Which one of the fd’llowmg is part of Agxléﬂ %?ﬁual collaboratign® approach?

a) Allow opc:nngi
b) Establish a cultuire of continuous €3" !
c) Develop,a ctlture of courage and fléx

d) All of these
g,

33. What is the main benefit of@g design?

Efficiency (‘% > J.Cost-effectiveness
iproved user sa?%?i n ‘Q‘Q Innovation

cling replaced the organization’s previous effective packages

34. Business process M

a) Time and ﬂéotlQ}l’S’ dy b) Total quality management
c)aandb d) None of these
35. Which metho Pean be used ,%x désign complex software programs based on models, both
structural and behavioural niodels?
a) Scenario based protorm& b) Agile discussion
¢) Simple prototype d) None of these

36. For a website d V’?ﬁpment project in an industry, the software developers divide the
main project m&any smaller projects and adopt an iterative approach to incorporate
any changes negded as per frequent customer feedback. This type of approach is found in

a) Agile méthod : b) Waterfall method
c) Spné d) All ofthese

’ Version A -4 of 6
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37.

:ll;‘g:::ztt;p liol?gcomplctcd by the team and mn(:c rca:{ly for.réview is called
; L b) Spfirty ”

c) Experience Design d; ﬂlﬁaiﬁgw Model Design

38. Which one is the process of selting goals, pfocedures and objectives in‘order to make a
company or organization more competitive?y ™)
a) Visualization . A,
b) Strategic management %’ 4
¢) Group discussion qf /f%r
d) Prototype % ég%

39. Which one of the following: 's(;ifpart of any type ofi novﬁtion?
a) Disruptive &1 b) Radicér; ;
c) Conceptual d) Ardlgz%t:tural

40. Which innovatia % is related to new cong“fepﬁ product or service which will create
new value to the Sﬁsﬁng market and also cg{éfz(zt?’?"a completely new market?
a) Incrementd\< 4w)b) Sustaining
c) Disrup @ ¢ d)Radical

41. Durationdof design thinking workshgp can be
a) 2 hrs ~ e
b) 2 days ¢ {”ﬁ:ﬁ@ -4 @
c) one week %
d) Depends on the contegg@ﬁ’g\ﬁthe workshop i %@

A 2.

42. Which one of the following are part of the: f strategic 1 %atlon?
a) Managed innov4tion process A g
b) Strategic Al@gﬁgient
c) Industries fo;es1ght and implementa &
d) All of th€se

43. ‘The w’iﬁwss to try somgthingby building, it i$ the evidence of experimentation’. The
statement refers to Y
%tory telling :

% @Q@Pé%totyping
% N . .
©) Mind mapping
d) Conceptualizinga,,s ¢
) ptualizingi, A

44.

45.

BIDTKI s%féﬂ)'rl(zss/zzm)m

A time boxed iterati IEERLT
d iteration of continuous development cyéle for z?, planned amount of work

How does e@%ce design rclatehumanization in product development?
a) Experienceesign focuses on greating a positive user experience while, humanization

focuses on making produgfs more user friendly.

b) Experience design and‘ly;g nization are unrelated.
¢) Experience design and’ focuses on creating a positive user experience

umanization
d) None of these

&
Which one isno ﬁ%f planning stage of design thinking workshop?
a) Learning goﬁ ' b) Pre-meeting

c) Develop g flow of activity d) Idea testing
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46.

47.

48.

49.

50.

4 ,,, M()del dCSign
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innovation happens when a new tcchnol{og; gompletely disrupts existing

business or cconomy and creates a new business m dol
a) Incremental b) Sust »tgpfﬁg,
¢) Disruptive d) l@&cal
®
Which of the following is not consideratio &hilé’ representing the story(gg}ghe product?
a) The central idea of the product @ g
b) Engaging the participants
¢) Other products in market < % ¢
d) Incorporate adequate detail % Vﬁr

A company collects, analyseﬁdrework by considering neg tive feedback to learn and
improve to create a SOlutlon that'ls

a) Desirable to customegt%if

b) Feasible to impleme
c) Viable for long Success
d) All of these g, ™.

& Y Com,
What step ggggidemgn process was not cons

sidered for this tea pot?

¢
a) Research and Dqﬁ%p
b) Prototype andf{?: sting
c) Design and Marufacturing
d) All of these ¢

Mr. XYZxsis starting a clothm”%%gn . m
wants to start thinking abog:% t non models/co;nmon people/end users need and plan
hig-defign around them. A% l; ingly, he is e %mg in

) Design thinking _  »

¢) End user gener{%

d) Model thx%g?
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